## Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Assam State, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales	Category	Type of Site*	Minimum Di	mension (in M.)/Area M.). *	of the site (in Sq.	Finance to be a appl	arranged by the licant	Mode of Selection	Fixed Fee / Minimum Bid	Security Deposit
1	2	3	4	Potential # 5	6	7		8		9a	9b	10	amount 11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (RS. in Lakhs)		Draw of Lots / Bidding	(Rs. in Lakhs)	(Rs. in Lakhs)
1	Within 3 km fom Shapkhaiti Chowk towards SP Office Udalguri on Shankar nagar Road	UDALGURI	REGULAR	116	sc	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
2	Dighali Magid to Raha Chairali on RHS on NH 27 E. W.( old NH 37) towards increasing chainage	NAGAON	REGULAR	155	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
3	Between Lokhra Chariali to Lal Ganesh Police Point on Lokhra Road	KAMRUP METROPOLITAN	REGULAR	165	OPEN	DC	17	31	527	32	75	DRAW OF LOTS	15	5
4	WITHIN DHEMAJI TOWN MUNICIPAL LIMITS, ON PNGB ROAD	DHEMAJI	REGULAR	140	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
5	ON SILAPATHAR-LIKABALI ROAD, WITHIN 6 KM FROM SILAPATHAR POLICE STATION TOWARDS LIKABALI	DHEMAJI	REGULAR	170	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
6	On Kahilipara Main Road between Ganeshmandir Roundabout to AEGCL Power House Kahilipara	KAMRUP METROPOLITAN	REGULAR	150	OPEN	DC	17	31	527	32	75	DRAW OF	15	5
7	From AEGCL Power House Kahilipara to Lalganesh Traffic Police Point on Kahilipara Main Road	KAMPUR	REGULAR	150	OPEN	DC	17	31	527	32	75	DRAW OF LOTS	15	5
8	On NH15, between Gelapukhuri road intersection and Dihingia Paach Ali (Tinsukia-Makum Junction), towards Dibrugarh	TINSUKIA	REGULAR	260	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
9	On Dhai Ali Road, within 3 kms from Sivasagar bypass intersection with NH-37	SIBSAGAR	REGULAR	145	sc	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
10	Tinsukia Town within Municipal Limits, not on NH/SH	TINSUKIA	REGULAR	180	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
11	ON AT ROAD, BETWEEN BANIPUR RAILWAY CROSSING TO CHAULKHOWA OVERBRIDGE	DIBRUGARH	REGULAR	150	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
12	Within 4 kms from Dhekiajuli Police Station towards Mission Chariali on NH 15	SONITPUR	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
13	ON LAKHIMPUR BYPASS ROAD, FROM RANGANADI NH-15 INTERSECTION TO RAILWAY-OVER-BIRDGE	LAKHIMPUR	REGULAR	140	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
14	ON LAKHIMPUR BYPASS ROAD, FROM CHARAIMORIA NH-15 INTERSECTION TO RAILWAY-OVER-BIRDGE	LAKHIMPUR	REGULAR	140	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
15	Within 3kms from Jaluguti State Dispensary towards Barapujia, on SH -3	MORIGAON	REGULAR	133	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
16	Photikasuwa Ahom Gaon on AT Road, between Moran and Tiloi, On LEFT HAND SIDE towards Khowang	DIBRUGARH	REGULAR	160	OPEN CC 1	DC	25	25	625	32	55	DRAW OF LOTS	15	5
17	Diphu within town/municipal limits, not on NH/SH	KARBI ANGLONG	REGULAR	120	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
18	ON NH-15, BETWEEN KM STONE NUMBER 389 AND JIADHAL CHARIALI	DHEMAJI	REGULAR	240	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
19	Madhopur Tiniali to Tipling Tiniali, on Duliajan-Naharkatia Road via APDCL Duliajan	DIBRUGARH	REGULAR	140	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
20	Sivasagar Town Limits, On AT Road, from Station Chariali to Dikhow River	SIBSAGAR	REGULAR	130	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
21	Sivasagar Town, on GNG Road	SIBSAGAR	REGULAR	130	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
22	From intersection of NH27 and Bijni - Panbari Road to Rakhaldubi on RHS of NH27 while going towards Rakhaldubi	BONGAIGAON	REGULAR	184	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
23	MORAN BETWEEN NAHARKOTIA BUS STAND TINALI TO SAINT JOSEPH SCHOOL	CHARAIDEO	REGULAR	150	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
24	On Kamar Bandha Road, from Jorhat Gitarthi Vidyalay to Kendriya Vidyalaya No.1, Air Force Station Jorhat.	JORHAT	REGULAR	120	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
25	WITHIN 5 KMS FROM LAKHIPUR POLICE STATION TOWARDS PALLORBOND ON OLD SILCHAR ROAD	CACHAR	REGULAR	120	OPEN CC 2	DC	30	30	900	32	55	DRAW OF LOTS	15	5
26	Between ASEB OFFICE, Samaguri and Rangagarah Shiv Mandir towards Amoni on New NH 127 (Old NH 37)	NAGAON	REGULAR	180	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
27	Within 5 kms from Sirajuli High School towards Dhekiajuli on NH15	UDALGURI	REGULAR	221	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
28	On NH-02, from Jhanji to Amguri	SIBSAGAR	REGULAR	205	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
29	On NH15, From Gelapukhuri road intersection to Makum Circle Point, on Left hand Side	TINSUKIA	REGULAR	260	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
30	Between Khanapara Flyover Approach, Guwahati to Lakhra Chariali on LHS of NH-27 while going from Khanapara towards Jalukbari	KAMRUP METROPOLITAN	REGULAR	200	OBC	DC	30	31	930	32	75	DRAW OF LOTS	15	4
31	ON LACHIT BORPHUKAN ROAD, BETWEEN SILAPATHAR AND PUKHIA (NOT ON NH/SH)	DHEMAJI	REGULAR	120	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
32	On Makum Bypass Road, from Dihingia Paach Ali (Tinsukia-Makum Junction) upto intersection with AT Road, towards AT Road	TINSUKIA	REGULAR	260	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
33	ON NH-15, BETWEEN BOGIBEEL BRIDGE AND KULAJAN TINIALI	DHEMAJI	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
34	DIBRUGARH WITHIN MUNICIPAL LIMITS, BETWEEN CHOWKIDINGHEE TO DD (TV) CENTRE, DIBRUGARH	DIBRUGARH	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
35	On NH 715 (Old NH 37), within 8 KM from Dergaon Chariali towards Numaligarh	GOLAGHAT	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
36	Between Kajalgaon Overbridge and Kashikotra Sidli HS School on NH 27 (RHS while going from Bongaigaon to Srirampur) Do NH 315 within 2 Krow from the interaction of NH 315 and Makum		REGULAR	219	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
37	On NH 315,within 3 Kms from the interection of NH 315 and Makum Bypass Road Within 4 km of HB Retrool Rump at Dimonuturi towardr Raniston Charali	TINSUKIA	REGULAR	260	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
38	Within 4 km of HP Petrool Pump at Dimoruguri towards Panigaon Charali on AT Road BETWEEN IOC RO FRIENDS SERVICE STATION AND NARAYANA	NAGAON	REGULAR	165	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
39	SUPERSPECIALITY HOSPITAL ON LHS( BAIHATA to GUWAHATI CITY	KAMRUP	REGULAR	250	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
40	DIRECTION) OF NH-27 Duliajan within town limits, from Tipling Tiniali to 16 Number Tiniali, on Naharkatia-Duliajan Road, Not on NH/SH	DIBRUGARH	REGULAR	100	sc	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
41	Within 5km of Sorbhog Police Station towrds NH27 on Sorbhog Main Road	BARPETA	REGULAR	108	OBC	DC	30	30	900	32	55	DRAW OF	15	4
	On NH29 (Old NH-36), Within 2 KM from Office of the Forest Beat Officer, Lahorijan (Under Eastern Range Rongapahar) towards Manja, on right hand side	KARBI ANGLONG	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
43	On NH-715 (Old NH-37), within 3 KM from Kamargaon College Tinali towards Jorhat, on left hand side	GOLAGHAT	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
44	Within 2 Km of UBI Lanka towards Kharikhana on Lanka-Kharikhana Road (In erstwhile Hojai District)	NAGAON	REGULAR	139	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
45	Between Kashikotra Sidli High School in Kashikotra and Bhutan Morh in Samthaibari on NH 27 (RHS while going from Bongaigaon to Srirampur)		REGULAR	219	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
46	On Bakulia Bypass (as per new NH DPR) on NH-29 (Old NH-36)		REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
47	ON BISWANATH CHARIALI BYPASS ROAD ON NH-15 (In erstwhile Biswanath District)		REGULAR	168	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
48	Within 3kms from DC Office Mangaldoi on NH15 towards Mangaldai		REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
49	BETWEEN HP RO BARTEZPUR TO ST. LOUIS HIGH SCHOOL ,NOWAPARA ON NH-17 (NEW) / NH 37 (OLD)	KAMRUP	REGULAR	165	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
50	Between Baghorbori Tiniali to Satgaon PHC on Baghorbori Road	METROPOLITAN	REGULAR	165	OPEN	DC	17	31	527	32	75	DRAW OF LOTS	15	5
51	Between JUNCTION of NH27 and PNGB ROAD and NF Railway HQ Gate No. 3, Maligaon ON PNGB ROAD BETWEEN RAMPUR FLYOVER, BIJOYNAGAR AND HP RO BARTEZPUR ON	KAMRUP METROPOLITAN	REGULAR	165	OPEN	DC	17	31	527	32	75	DRAW OF LOTS DRAW OF	15	5
52	BE I WEEN RAMPUR FLYOVEN, BIJOYNAGAR AND HP RO BARTEZPUR ON NH-17 (NEW) / NH 37 (OLD) WITHIN 2 KMS FROM PATANJALI YOGPEETH TRUST KUMRIKATA		REGULAR	170	OBC PH	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
53	TOWARDS CHECHAPANI MARKET ON (SH 06)	BAKSA	REGULAR	120	ST PH	CFS	30	30	900	0	0	LOTS DRAW OF	0	3
54	Between Bhetapara chariali to Sawkuchi Tiniali on Hockey stadium road Between six mile flyover to the intersection of Jayanagar Road and NH-27	METROPOLITAN	REGULAR	165	OPEN	DC	17	31	527	32	75	LOTS DRAW OF	15	5
55	on Jayanagar road. FROM MOTINAGAR BAZAR TO GANGANAGAR POST OFFICE ON SMD	METROPOLITAN	REGULAR	154	OPEN	DC	17	31	527	32	75	LOTS DRAW OF	15	5
56	ROAD	CACHAR	REGULAR	130	OBC	DC	30	30	900	32	55	LOTS	15	4

	BETWEEN BCPL CIRCLE TO IOCL SWAPNALI FILLING											DRAW OF		
57	STATION,BARBARUAH From Tihu Chowk to Kadamtal Chowk on LHS on NH-31(OLD)/NH-	DIBRUGARH	REGULAR	160	OPEN	DC	25	25	625	32	55	LOTS DRAW OF	15	5
58	27(NEW) while going from Tihu Chowk to Kadamtal Chowk ON BOGIBEEL ROAD CONNECTING MER TINIALI WITH NH-15, WITHIN 2	NALBARI	REGULAR	202	ST	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
59	KMs ON EITHER SIDE OF MER TINIALI	DHEMAJI	REGULAR	120	OPEN	DC	25	25	625	32	55	LOTS	15	5
60	From Mission chariali traffic point to Vartak Head Office on NT Road	SONITPUR	REGULAR	210	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
61	Within 2 Km from Reliance Petrol Pump at Lakhipur towards Makri on SH 46	GOALPARA	REGULAR	113	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
62	Between Bhutan Morh Samthaibari Bazar and Runikhata Police Station on NH-127C (Bongaigaon-gelephu road)	CHIRANG	REGULAR	156	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
63	Jorhat, from Hotel Pragati Manor on AT Road to Lichubari, Na Ali, via Assam Agricultural Unviersity	JORHAT	REGULAR	120	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
64	Between Paikarkuchi Chowk and Balikuchi MV school on Paikarkuchi- Kamarkuchi Road	NALBARI	REGULAR	110	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
65	From 1 Km after Matiajuri Toll Plaza in Telipara to Assam Bengal Border	KOKRAJHAR	REGULAR	534	OPEN CC 1	DC	35	25	1225	32	95	DRAW OF	15	5
65	in Srirampur on NH 27 (RHS while going fom Bongaigaon to Srirampur)	KUKRAJHAK	REGULAR	554	OPEN CC 1	ЪС	33	35	1225	32	95	LOTS	15	3
66	On NH-702, From Hahchora to Hukoti Ali, on Left Hand Side towards Simaluguri	SIBSAGAR	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
67	LAMPARA LP SCHOOL TO BANDHAN BANK, BOKO BRANCH ON NH-17 (NEW) / NH 37 (OLD)	KAMRUP	REGULAR	179	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
68	Jorhat within town/municipal limits, from Bhogdoi Bridge To Kenduguri Bypsas on A.T. Road	JORHAT	REGULAR	120	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
69	From Khandajan Model high school to Maroi Bijulibari Govt. High School on NH 15	DARRANG	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
70	Between Dhubri Rail Station and Dhubri Civil Hospital on RK Mission Road	DHUBRI	REGULAR	144	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
71	Between SSB Camp Chapaguri and Chapaguri Chariali traffic point on NH-	CHIRANG	REGULAR	219	ST	CFS	35	35	1225	0	0	DRAW OF	0	3
72	27 (RHS while going from rakhaldubi to chapaguri) Within 3 kms from Batabari Chowk towards Rowta Chariali on NH15	DARRANG	REGULAR	168	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
73	From end point of Jalukbari flyover bridge to Lakhra Chariali on LHS of	KAMRUP	REGULAR	200	OPEN	DC	30	31	930	32	75	LOTS DRAW OF	15	5
74	NH27 while moving from Jalukbari towards Khanapara DIBRUGARH WITHIN MUNICIPAL LIMITS, BETWEEN AMOLAPATTY TO	METROPOLITAN DIBRUGARH	REGULAR	150	OPEN	cc	20	20	400	32	12	BIDDING	30	5
	PHOOLBAGAN											DRAW OF		
75	Within 2 kms from Rowta Chariali towards Udalguri on NH 715A Within 5 km of Darranggiri Banana Market towards Dudhnoi on NH-	UDALGURI	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
76	37(Old)/ NH-17 New FROM ISBT POINT TO GHUNGOOR KUARPAR END CONNECTING SH 39	GOALPARA	REGULAR	224	SC CC 1	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
77	ON SILCHAR BYPASS ROAD From Lakhra Chariali to Jalukbari Flyover approach on LHS of NH-27 while	CACHAR KAMRUP	REGULAR	200	OPEN PH	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
78	going from Khanapara towards Jalukbari	METROPOLITAN	REGULAR	200	OBC	DC	30	31	930	32	75	LOTS	15	4
79	On AT road, Within 5 KMS from ASTC Tinsukia Town Bus stand towards Makum	TINSUKIA	REGULAR	180	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
80	From 1 km after Patgaon toll plaza to Serfanguri Over Bridge on NH 27 (LHS while going fom Bongaigaon to Srirampur)	KOKRAJHAR	REGULAR	834	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
81	From Lakhra Chariali to Khanapara Flyover Approach on LHS of NH-27 (new)/NH-37 (old) while going from Lakhra towards Khanapara	KAMRUP METROPOLITAN	REGULAR	200	OPEN	DC	30	31	930	32	75	DRAW OF LOTS	15	5
82	ON SH-1,BETWEEN INTERSECTION POINT OF NH52B AND SH-1 TO SALKATHONI TEA ESTATE	CHARAIDEO	REGULAR	150	OBC	сс	30	30	900	32	12	BIDDING	30	4
83	WITHIN 4 KM FROM GARCHIGA TRIBAL HS SCHOOL ON GARCHIGA ROAD	LAKHIMPUR	REGULAR	150	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
84	BETWEEN NORTH GUWAHATI POLICE OUT POST, GAURIPUR AND	KAMRUP	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF	15	5
85	NORTH GAUHATI COLLEGE, ABHAYPUR ON PWD ROAD Within 3 Kms from Rampur Chariali on Barpeta Doulashal Road (NH 427)	NALBARI	REGULAR	152	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
86	towards Doulashal FROM MOKOI BHANGA TINMUKHA TO BADARPUR POLICE STATION ON	KARIMGANJ	REGULAR	210	OBC	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
	NH37 Between Vishal Megamart and Goalpara Civil Hospital on Goalpara- Agia		REGULAR	279	OPEN			30	900	32	55	LOTS DRAW OF	15	5
87	Road	GOALPARA		-	-	DC	30					LOTS		-
88	Between Tribeni Traffic Point, Tezpur to Vartak Head Office on NT Road BETWEEN ST. JOSEPH SCHOOL, MORAN TO KHATKHATI, ON LEFT HAND	SONITPUR	REGULAR	210	OPEN CC 1	cc	30	30	900	32	12	BIDDING DRAW OF	30	5
89	SIDE TOWARDS SEPON WITHIN 3KM FROM CHANDKHIRA RAILWAY CROSSING TOWARDS	CHARAIDEO	REGULAR	140	ST	CFS	20	20	400	0	0	LOTS DRAW OF	0	3
90	KATHALTALI ON NH 208A	KARIMGANJ	REGULAR	200	OBC	DC	35	35	1225	32	95	LOTS	15	4
91	From Clock Tower, Nagaon to Borghat Police Station on Nagaon-Lumding Road	NAGAON	REGULAR	165	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
92	ON AT ROAD, BETWEEN DIBRUGARH UNIVERSITY TO BARBARUAH	DIBRUGARH	REGULAR	150	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
93	Between State Bank of India Lanka and BPCL Retail Outlet Energy Station, on Lanka- Lumding Road (In erstwhile Hoiai District)	NAGAON	REGULAR	138	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
94	WITHIN 3 KM FROM LAHOLIAL CHARIALI ON BONGALMARA ROAD	LAKHIMPUR	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
95	Between Sultan Hospital & Research Centre, Morigaon and Telahi Charali	MORIGAON	REGULAR	104	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
96	on Morigaon Telahi Road DIBRUGARH WITHIN MUNICIPAL LIMITS, FROM AMOLAPATTY TO	DIBRUGARH	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF	15	5
97	DIBRUGARH UNIVERSITY, on LEFT HAND SIDE ON NH-15, BETWEEN BOGINADI POLICE STATION AND CHARAIMORIA	LAKHIMPUR	REGULAR	240	OBC	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
98	POST OFFICE Between Tribeni traffic point, Tezpur and Civil Chowk, Tezpur on	SONITPUR	REGULAR	100	sc	CFS	30	30	900	0	0	LOTS DRAW OF	0	3
	Hatipilkhana Road WITHIN 2KM FROM HPCL PETROL PUMP, MEHERPUR TOWARDS SILCHAR										-	LOTS DRAW OF		
99	MEDICAL COLLEGE ON SH 39	CACHAR	REGULAR	200	OPEN	DC	30	30	900	32	75	LOTS DRAW OF	15	5
100	From Bhawanipur Traffic Point to Howly Traffic Point on LHS of NH27 From Dharamtul High School to Dharamtul PS on LHS towards Nagaon on	BARPETA	REGULAR	184	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
101	NH 27 E.W (Old NH - 37) SBI Dudhnoi to Damra (intersection of Mendi-Damra road) on NH 62	MORIGAON	REGULAR	155	OBC	DC	35	35	1225	32	95	LOTS	15	4
102	(Old)/ NH 217 (New)	GOALPARA	REGULAR	195	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
103	DIBRUGARH WITHIN MUNICIPAL LIMITS, FROM AMOLAPATTY TO DIBRUGARH UNIVERSITY, on RIGHT HAND SIDE	DIBRUGARH	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
104	IN BETWEEN BOTH SIDE JUNCTION POINTS WITH NH 8 ON PATHARKANDI BYPASS	KARIMGANJ	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
105	Between KM stone 825 and Assam-West Bengal Boarder check gate on NH 17	DHUBRI	REGULAR	266	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
106	From HPC Kagajnagar Hospital to Amalighat SBI Bank, towards Amlighat, on NH -27 E.W (Old NH - 37)	MORIGAON	REGULAR	202	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
107	ON SH-1 BETWEEN SALKATHONI TEA ESTATE TO TITLAGARH	CHARAIDEO	REGULAR	180	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
108	On NH-715 (old NH-37), from Su-ka-pha Samannay Khetra to Kakodonga	JORHAT	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
100	River bridge, on Left Hand Side DIBRUGARH WITHIN MUNICIPAL LIMITS, BETWEEN CHOWKIDINGHEE TO	DIBRUGARH	REGULAR	150	OPEN	cc	20	20	400	32	12	BIDDING	30	5
105	THANACHARALI On JB ROAD, within Jorhat town/municipal limits	JORHAT	REGULAR	130	OPEN	DC	20	20	400	32	55	DRAW OF	15	5
<u> </u>	UN 3B RUAD, within Jornat town/municipal limits Within 2 kms from Dolabari Chariali towards Kaliabhomara Bridge on NH		REGULAR	268	SC		35	35	1225	32	0	LOTS DRAW OF	0	3
111	715 On SH-34, Within 4 KM from Central Reserve Police Force Camp Gate,	SONITPUR				CFS			-		-	LOTS DRAW OF		
112	Merapani, towards Furkating Between Panikhaiti Police Station to Office of the Settlement Officer	GOLAGHAT KAMRUP	REGULAR	160	OBC	DC	30	30	900	32	75	LOTS DRAW OF	15	4
113	Chandrapur on Chandrapur Road (SH03)	METROPOLITAN	REGULAR	100	OPEN	DC	30	30	900	32	75	LOTS	15	5
114	ON AT ROAD, FROM TILOI RIVER TO MORAN DIVISIONAL FOREST OFFICE	DIBRUGARH	REGULAR	140	OPEN CC 1	сс	25	25	625	32	12	BIDDING	30	5
115	On Dhodhar Ali Road (SH-01), From Titabor Tiniali to Industrial Training Institute ,Titabor	JORHAT	REGULAR	180	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
116	Simaluguri to Santak	SIBSAGAR	REGULAR	130	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
117	After 3 kms from Porua Chariali Traffic Point to Tezpur University Main Gate on Tezpur University Road	SONITPUR	REGULAR	126	OPEN	DC	30	30	900	32	55	DRAW OF	15	5
118	DIBRUGARH WITHIN MUNICIPAL LIMITS, BETWEEN MEDICAL TINALI TO PALTAN BAZAR	DIBRUGARH	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF	15	5
119	Between Late Bina Bora Smriti Udyan, Morigaon and Sultan Hospital and	MORIGAON	REGULAR	133	OBC	DC	30	30	900	32	75	DRAW OF	15	4
120	Research Centre, Morigaon on Main Road, Morigaon On NH-115,Within 6 KM From Talap Balibazar High school towards	TINSUKIA	REGULAR	230	sc	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
	Sadiya DIBRUGARH WITHIN MUNICIPAL LIMITS, BETWEEN PHOOLBAGAN TO											LOTS DRAW OF		
121	NALIAPOL Between Office of Superintendent of Handloom and Textile, Handloom	DIBRUGARH	REGULAR	150	OPEN	DC	20	20	400	32	55	LOTS	15	5
122	Production Centre, Changsari and BARUAJANI HIGH - SCHOOL (ON	KAMRUP	REGULAR	110	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
123	CHANGSARI - BORKA - KAMALPUR ROAD) On SH32(NA-ALI), from Lichubari to Titabor Mouzdar Office	JORHAT	REGULAR	140	OBC	DC	30	30	900	32	75	DRAW OF	15	4
124	ON BORBALI ROAD, WITHIN 3 KM FROM BIHPURIA TINIALI TOWARDS	LAKHIMPUR	REGULAR	120	OPEN	DC	30	30	900	32	55	LOTS DRAW OF	15	5
L	BANDERDEWA		REGULAR	220	-			35			0	LOTS DRAW OF		3
100	On NH-02 from Amguri To Magaland Pordor Coto													
125 126	On NH-02, from Amguri To Nagaland Border Gate Within 4 kms from Air Force Station Tezpur Tinali towards Balipara on	SIBSAGAR	REGULAR	158	ST CC 1 OPEN CC 2	CFS DC	35	35	1225	0 32	95	LOTS DRAW OF	0 15	5

			1	1								DRAW OF		
127	From Bogribari Girls ME School to KM Stone 876 on NH 17 Between Sorbhog Bazar and Jamadarguri Railway Gate on Sorbhog Main	DHUBRI	REGULAR	254	OBC CC 1	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
128	Road MORAN RETWEEN NAHARKOTIA BUS STAND TINALI TO MORAN CIRCLE	BARPETA	REGULAR	108	OPEN	DC	30	30	900	32	55	LOTS DRAW OF	15	5
129	OFFICE	DIBRUGARH	REGULAR	150	ST	CFS	25	25	625	0	0	LOTS	0	3
130	On NH-37, from Gaurisagar to Jhanji, towards Jhanji	SIBSAGAR	REGULAR	215	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
131	On NH-329 (Diphu-Manja Road), within 2 KM from Don Bosco College,Diphu	KARBI ANGLONG	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
132	Between Kerkhabari Chariali and Naranarayan Setu on NH 17 on RHS	BONGAIGAON	REGULAR	270	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
	while going from Kerkhabari Chariali towards Naranarayan Setu	bondhidhon										LOTS DRAW OF		
133	Between GKB College, Morigaon and Morigaon College, on Morigaon Nagaon Main Road	MORIGAON	REGULAR	110	OBC	DC	30	30	900	32	75	LOTS	15	4
134	After 1 Km of Patgaon toll plaza to Serfanguri Over Bridge on NH 27 (RHS while going fom Bongaigaon to Srirampur)	KOKRAJHAR	REGULAR	534	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
135	NAHARANI GAON ON NH37, FROM SEPON INTERSECTION TO THAWRA TEA GARDEN TOWARDS DEMOW, on LEFT HAND SIDE	DIBRUGARH	REGULAR	290	OPEN	cc	45	45	2025	32	12	BIDDING	30	5
136	Rajmai Grant village ON NH37, FROM DIKHARI TO THOWRA TEA GARDEN, ON LEFT HAND SIDE TOWARDS DEMOW	SIBSAGAR	REGULAR	290	OPEN	DC	45	45	2025	32	95	DRAW OF LOTS	15	5
137	Between Kaliabor Tinali and Sulung Chariali on NH715 towards Tezpur	NAGAON	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
138	FROM GHUNGOOR-KUARPAR END TO SONAIBARIGHAT POINT ON RHS	CACHAR	REGULAR	200	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
139	OF SILCHAR BYPASS ROAD From Sorbhog to Manikpur on LHS of NH27 while going from Sorbhog to	BONGAIGAON	REGULAR	184	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
	Manikpur Namti Chariali to Joysagar Temple(Joysagar-Namti-Kharikatia-Deopani			-	-							LOTS DRAW OF		
140	Road)	SIBSAGAR	REGULAR	155	OPEN CC 1	DC	25	25	625	32	55	LOTS DRAW OF	15	5
141	On NH 15, from Nadua bypass Chariali, Within 6 KMS towards Mohanbari Between Kachugaon and Joyma on LHS of NH 27 While moving from	DIBRUGARH	REGULAR	260	OBC	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
142	Bongaigaon to Srirampur	KOKRAJHAR	REGULAR	834	ST	CFS	35	35	1225	0	0	LOTS	0	3
143	Within 2 kms from Dolabari Chariali towards Panchmile on Dolabari Panchmile Napam Road	SONITPUR	REGULAR	121	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
144	On NH 15, BETWEEN FIRST BRIDGE FROM SUKAFAA JUNCTION SIDE TO BOGIBIL BRIDGE, ON LEFT HAND SIDE TOWARDS KULAJAN	DIBRUGARH	REGULAR	260	OPEN	DC	45	45	2025	32	95	DRAW OF LOTS	15	5
145	Between Bhella Post Office and Nagaon Namghar on Barpeta Doulashal Road (NH 427)	BARPETA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
146	Within 3 km from Dolabari Chariali towards NERIWALM on Dolabari	SONITPUR	REGULAR	105	OPEN	DC	30	30	900	32	55	DRAW OF	15	5
	Kalibari Road Between Kerkhabari Chariali and Naranarayan Setu on NH 17 on LHS											LOTS DRAW OF		
147	while going from Kerkhabari Chariali towards Naranarayan Setu	BONGAIGAON	REGULAR	270	ST	CFS	35	35	1225	0	0	LOTS	0	3
148	Between Hojai District Hospital and Post Office Teli Basti on Main Road (Within Hojai Municipal Limits)(In erstwhile Hojai District)	NAGAON	REGULAR	160	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
149	Mothiasiga to Nazira Road, within 3 km from Mothiasiga	SIBSAGAR	REGULAR	120	OBC	DC	25	25	625	32	55	DRAW OF	15	4
150	From Khorgat ME School to Bogribari HS School on NH 17	DHUBRI	REGULAR	254	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
150	CHHAYGAON CHC/PHC TO BAMUNIGAON HIGH SCHOOL ON NH-17	KAMRUP	REGULAR	160	SC PH	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
	(NEW) / NH 37 (OLD) BETWEEN KARGIL POINT (JUNCTION POINT OF NH 37 AND SH 38	MININUP		100	3011	urs			144.5	-		LOTS	-	
152	(KALAIN ROAD)) AND SAMEEHA FILLING STATION ON EITHER SIDE OF SH 38 (KALAIN ROAD)	CACHAR	REGULAR	160	OBC PH	DC	30	30	900	32	75	DRAW OF LOTS	15	4
153	Between Hojai Circle Office and Ahmedia Masjid, Hojai Town on Main	NAGAON	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF	15	5
	Road, Hojai (In erstwhile Hojai District) Duliajan within Town Limits, On Dibrugarh Duliajan road, from Peepal Tal											LOTS DRAW OF		
154	junction to Duliajan Railway crossing towards Tingrai Chariali, Not on NH/SH	DIBRUGARH	REGULAR	140	OPEN	DC	25	25	625	32	55	LOTS	15	5
155	FROM SONAIBARIGHAT POINT TO SONAI POLICE OUTPOST ON SILCHAR - SONAI PWD ROAD	CACHAR	REGULAR	140	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
156	ON MECHAKI TANGANI ROAD, WITHIN 2 KMs FROM MECHAKI TANGANI	DHEMAJI	REGULAR	120	SC	CFS	25	25	625	0	0	DRAW OF	0	3
157	POLICE STATION ON DOOLAHAT - KACHAJULI ROAD, WITHIN 1 KM FROM DOOLAHAT	LAKHIMPUR	REGULAR	120	OPEN	DC	25	25	625	32	55	LOTS DRAW OF	15	5
158	Between Punjab National Bank, Raha Branch and Allahabad Bank,		REGULAR	106	OPEN		30	30	900	32	55	LOTS DRAW OF	15	5
	Baropujia, Nagaon, on Morigaon Roha Road On NH 15, from Nadua bypass Chariali, Within 7 KMS towards Dinjoy	NAGAON				DC						LOTS DRAW OF		
159	Chariali ON NH52B, FROM DISANG BRIDGE TO BHARALI PUKHURI TINALI, ON	DIBRUGARH	REGULAR	260	OBC	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
160	LEFT HAND SIDE TOWARDS SAPEKHATI	CHARAIDEO	REGULAR	270	ST	CFS	45	45	2025	0	0	LOTS	0	3
161	From Ghoghrapar High School To Bogols Road Chowk on Nalbari Medical College and Hospital Road	NALBARI	REGULAR	110	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
162	On Moran-Sonari Road, within 2 KM from Kakotibari Police Station towards Sonari	CHARAIDEO	REGULAR	135	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
163	ON LHS WHILE MOVING TOWARDS KABUGANJ WITHIN 4 KM FROM SATSANG ASRAM PANIBHORA ON NH 306	CACHAR	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
164	WITHIN 2 KMS FROM BIHAGURI POLICE OUTPOST ON LHS FROM	KAMRUP	REGULAR	201	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
165	RANGIA TO GUWAHATI ON NH -31 (OLD)/NH-27 (NEW) On NH-627, within 2 KM from Dongamukam Charali towards Kheroni	WEST KARBI	REGULAR	200	ST	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
166	Between Maa Kali Mandir Chautaki and Kerkhabari Chariali on NH 17 on	ANGLONG BONGAIGAON	REGULAR	270	OPEN CC 1	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
100	Right hand side towards Naranarayan Setu	BONGAIGAON	neoobut	2.0	OF EN CC 1	DC	33			52	55	LOTS		
167	Within 3 kms from Tiniali Bazar Police Outpost, Udali on RHS towards Lumding on NH 27 E.W (Old NH - 36) (In erstwhile Hojai District)	NAGAON	REGULAR	252	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
168	WITHIN 5 KM FROM JUNCTION POINT OF NH6 WITH NEW ROAD	HAILAKANDI	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
169	COMMING FROM DHALESWARI FILLING STATION ON NH-6 Within 4 KM of Jakhalabandha Hospital Tinali towards Kuwaritol on	NAGAON	REGULAR	180	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
105	NH715 (Old NH 37) FROM NILAMABAZAR COLLEGE TO BARAIGRAM POST OFFICE ON NH8	KARIMGANJ	REGULAR	180	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
<u> </u>												LOTS DRAW OF		
171	Between KM stone 839 and 826 on NH 17 Within 3 km from Doboka Chariali (Intersection of NH 27 E.W (Old NH -	DHUBRI	REGULAR	266	OBC	DC	35	35	1225	32	95	LOTS	15	4
172	36) and NH 29) towards Doboka Range Forest Office on NH 29 (In	NAGAON	REGULAR	166	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
173	erstwhile Hojai District) From Patacharkuchi Police Station towards Pathsala Traffic Point on RHS	BARPETA	REGULAR	184	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
-	of NH27 while going from Patacharkuchi to Pathsala On NH-715 (Old NH-37),within 4 KM from Numaligarh Tinali on Left Hand		REGULAR	200	-		35	35	1225	0	0	LOTS DRAW OF	0	3
174	Side towards Jorhat FROM BLOCK DEVELOPMENT OFFICE, BOKO TO JN COLLEGE ON NH-17	GOLAGHAT			ST CC 1	CFS			-	-	-	LOTS DRAW OF	-	
175	(NEW) / NH 37 (OLD)	KAMRUP	REGULAR	170	OBC CC 1	DC	35	35	1225	32	95	LOTS	15	4
176	From 1 km after Matiajuri Toll Plaza in Telipara to Assam Bengal Border in Srirampur on NH 27 (LHS while going fom Bongaigaon to Srirampur)	KOKRAJHAR	REGULAR	834	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
177	Between Borbhagia Chariali and Kaliabor Tinali towards Kaliabor Tinali	NAGAON	REGULAR	180	OPEN PH	DC	35	35	1225	32	95	DRAW OF	15	5
<u> </u>	on New NH 127 (Old NH 37)											LOTS DRAW OF		
178	On NH-37, from Betbari to Demow, towards Demow On NH 715 (Old NH-37), from Sukafa Samannay Khetra to Jorhat by pass	SIBSAGAR	REGULAR	210	ST	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
179	(Galaxy Computer Institute), on Left Hand Side	JORHAT	REGULAR	180	OBC	DC	35	35	1225	32	95	LOTS	15	4
180	Between KM stone 873 and KM stone 869 on NH 17	DHUBRI	REGULAR	254	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
181	Between Maa Kali Mandir Chautaki and Deohati Tiniali on NH 17 on Right hand side towards Naranarayan Setu	BONGAIGAON	REGULAR	270	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
182	ON RIGHT HAND SIDE WITHIN 4 KM ON NH6 FROM DIGHARKHANL TOLL GATE TOWARDS MALIDOR	CACHAR	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
183	FROM DHOLAI POLICE STATION TO BHAGABAZAR EIDGAH ON NH 306	CACHAR	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
184	On NH-627, from Kapili College to Kheroni Kapili River Bridge	WEST KARBI	REGULAR	170	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
185	Between Chapaguri Chariali traffic point and Kajalgaon Overbridge on NH	ANGLONG	REGULAR	219	OPEN	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
	27 (RHS While going from chapaguri to Kajalgaon) ON NH52B, BETWEEN NOKHAT CHANGMAI LP SCHOOL TO CHOWDANG				-				-			LOTS DRAW OF		
186	GAON, ON LEFT HAND SIDE TOWARDS RAJGARH	DIBRUGARH	REGULAR	210	OBC	DC	45	45	2025	32	95	LOTS DRAW OF	15	4
187	ON SH A-22, BETWEEN NEMUTENGANI AND DHAKUAKHANA CHARIALI	DHEMAJI	REGULAR	160	SC	CFS	30	30	900	0	0	LOTS	0	3
188	On NH-315, Within 3 KM From Lekhapani Police station towards Jagun on Left Hand Side	TINSUKIA	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
189	WITHIN NAGERTILLA MARKET TO BPCL PETROL PUMP ON SONAIBARIGHAT ROAD ON NH	CACHAR	REGULAR	220	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
190	Between Karigaon NH Junction to 1 km before Patgaon Toll Plaza on NH 27 (RHS while going fom Bongaigaon to Srirampur)	KOKRAJHAR	REGULAR	534	OBC	сс	35	35	1225	32	12	BIDDING	30	4
191	ON NH15, BETWEEN BOGIBEEL RAILWAY JUNCTION TO FIRST BRIDGE	DIBRUGARH	REGULAR	260	ST	CFS	35	35	1225	0	0	DRAW OF	0	3
192	FROM SUKAFAA JUNCTION, ON RHS TOWARDS KULAJAN FROM KILOMETRE STONE 40 TO KILOMETRE STONE 45 ON NH 37	CACHAR	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
193	AGYATHURI LP SCHOOL TO HP RO S N CHOUDHURY AUTO FUEL ON NH	KAMRUP	REGULAR	160	OBC	DC	35	35	1225	32	95	LOTS DRAW OF	15	4
	427	ioninino P		100	0.00							LOTS		

>     >     No.     A.     A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.    A.	194	On NH-315, Between 3 KM to 6 KM From Lekhapani Police station	TINGUNAN	DECLILAD	240	OPEN	80	25	25	1225	22	0F	DRAW OF	15	5
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	-		TINSUKIA	REGULAR	240	OPEN	DC	35	35	1225	32	95		15	
Desc         Desc <thdesc< th="">         Desc         Desc        <thd< td=""><td></td><td>NH27 while going from Patacharkuchi to Pathsala</td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>LOTS</td><td></td><td></td></thd<></thdesc<>		NH27 while going from Patacharkuchi to Pathsala			-								LOTS		
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	196	Moran	DIBRUGARH	REGULAR	210	SC	CFS	45	45	2025	0	0		0	
Non-starting     Non-starting <td< td=""><td>197</td><td>E.W (Old NH 36), (In erstwhile Hojai District)</td><td>NAGAON</td><td>REGULAR</td><td>252</td><td>OBC</td><td>CC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>12</td><td></td><td>30</td><td>4</td></td<>	197	E.W (Old NH 36), (In erstwhile Hojai District)	NAGAON	REGULAR	252	OBC	CC	35	35	1225	32	12		30	4
Image     Image    Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image     Image    <	198	(Ayushman Bharat -Ayush health and wellness centre)	KARBI ANGLONG	REGULAR	210	OPEN	DC	35	35	1225	32	95	LOTS	15	5
Image         Image <t< td=""><td>199</td><td></td><td>DIBRUGARH</td><td>REGULAR</td><td>210</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td></td><td>15</td><td>5</td></t<>	199		DIBRUGARH	REGULAR	210	OPEN	DC	35	35	1225	32	95		15	5
Image: Antione and the set of the set	200	Within 8 kms from Rowta Chariali towards Dekiajuli on NH 15	UDALGURI	REGULAR	263	ST	CFS	35	35	1225	0	0		0	3
>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>	201		DIBRUGARH	REGULAR	280	OBC	DC	45	45	2025	32	95	DRAW OF	15	4
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	202	Within 5 km from Doboka Range Forest Office to Dikhorumukh towards	NAGAON	REGULAR	162	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
Pick         Pick        Pick        Pick        P	203	Between Paglahat HS School and Tamarhat Police Stationon Dhubri	DHUBRI	REGULAR	222	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
Image:         Image:        Image:        Image: </td <td></td> <td>Between Rakhaldubi NH Junction (Junction of NH 27 and NH117) and</td> <td></td>		Between Rakhaldubi NH Junction (Junction of NH 27 and NH117) and													
Image: standing         No.         No.        No.         No.	204	chapaguri)	BONGAIGAON	REGULAR	219	OBC	DC	35	35	1225	32	95		15	4
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	205		BONGAIGAON	REGULAR	219	ST	CFS	35	35	1225	0	0		0	3
Image         Image <t< td=""><td></td><td>chapaguri)</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>		chapaguri)													
Image         Image <t< td=""><td>206</td><td></td><td>NAGAON</td><td>REGULAR</td><td></td><td>-</td><td>CC</td><td></td><td></td><td>-</td><td></td><td></td><td>-</td><td></td><td></td></t<>	206		NAGAON	REGULAR		-	CC			-			-		
Matrix	207		DHUBRI	REGULAR	254	OPEN	DC	35	35	1225	32	95	LOTS	15	5
Desc         Desc <thdesc< th="">         Desc         Desc        <thd< td=""><td>208</td><td>on NH-27(New)/NH-31 (Old) towards Guwahati on LHS</td><td>NALBARI</td><td>REGULAR</td><td>202</td><td>OBC</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td>LOTS</td><td>15</td><td>4</td></thd<></thdesc<>	208	on NH-27(New)/NH-31 (Old) towards Guwahati on LHS	NALBARI	REGULAR	202	OBC	DC	35	35	1225	32	95	LOTS	15	4
Displand	209	(New)	GOALPARA	REGULAR	151	SC	CFS	35	35	1225	0	0		0	3
Distr         Distr <t< td=""><td>210</td><td></td><td>NAGAON</td><td>REGULAR</td><td>166</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td></td><td>15</td><td>5</td></t<>	210		NAGAON	REGULAR	166	OPEN	DC	35	35	1225	32	95		15	5
Distance interpart int		erstwhile Hojai District)													
Description of the second of the s	211	(LHS while going fom Bongaigaon to Srirampur)	KOKRAJHAR	REGULAR	834	OPEN	DC	35	35	1225	32	95		15	5
Distant         <	212		KAMRUP	REGULAR	200	OBC	DC	35	35	1225	32	95		15	4
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	213		KARIMGANI	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>		On NH-29 (Old NH-36), within 3 KM from office of Govt. eri seed				-	-			-				-	
Discription of the sector of the s	214	DPR)	KARBI ANGLONG	REGULAR	240	ST	CFS	35	35	1225	0	0		0	3
image:	215	On new Dirbugarh town bypass, Between ROB Chaualkhowa and Airport	DIBRUGARH	REGULAR	200	OBC	cc	35	35	1225	32	12	BIDDING	30	4
Displacemental problem         Displacemental problem <thdisplacemental problem<="" th="">         Displacemental problem&lt;</thdisplacemental>	216	On NH-715 (old NH-37), from Jorhat Bypaas to Kenduguri Bypass, on	JORHAT	REGULAR	180	OPEN CC 1	DC	35	35	1225	32	95		15	5
Image: 1Participant protect protocy of the protocy of t	217	On NH-315,Between 2 KM to 5 KM from Ledo Railway Station towards	TINSUKIA	REGULAR	210	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
Image of the sector														_	
Image: Consistence of a constraint constraint of a constraint of a constraint of a con	218	Police Patrol Post board) towards Khatkhati, on left hand side	KARBI ANGLONG	REGULAR	180	ST	CFS	35	35	1225	0	0		0	3
Display         <	219		LAKHIMPUR	REGULAR	240	OBC	DC	35	35	1225	32	95		15	4
j>bic         bic         bic         j bic         j         j         j bic         j j j <br< td=""><td>220</td><td>DIVISIONAL FOREST OFFICE KARIMGANJ TO SUTERKANDI BOARDER</td><td>KARIMGANJ</td><td>REGULAR</td><td>170</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td></td><td>15</td><td>5</td></br<>	220	DIVISIONAL FOREST OFFICE KARIMGANJ TO SUTERKANDI BOARDER	KARIMGANJ	REGULAR	170	OPEN	DC	35	35	1225	32	95		15	5
111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111         111 <td>221</td> <td>On NH-702, Between Towkak Tea Garden to Namtola, within Assam State</td> <td>CHARAIDEO</td> <td>REGULAR</td> <td>180</td> <td>OPEN</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td>DRAW OF</td> <td>15</td> <td>5</td>	221	On NH-702, Between Towkak Tea Garden to Namtola, within Assam State	CHARAIDEO	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
image         Booker         Booker<	222		DARRANG	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF	0	3
1         1         1         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0	223		KOKRAJHAR	REGULAR	219	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
Date         Description         Description <thdescription< th=""> <thde< td=""><td>224</td><td></td><td></td><td></td><td>210</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></thde<></thdescription<>	224				210										
Image of the field of															
Image: Note:		LAKHIMPUR ON NH 15 (In erstwhile Biswanath District) BETWEEN IOC RO DHUPGURI NANDINI ENERGY AND DHUPDHARA								-					
Image: Construct set in the set		POLICE STATION ON NH-17 (NEW) / NH 37 (OLD)													
Image: Note:	227	Church, Japralangso towards Dimapur								-			LOTS		
Image and the conductancy of a line conduct	228	KANMUN ROAD & NH8 TOWARDS CHURAIBARI ON NH8		REGULAR	180	OPEN	DC	35	35	1225	32	95	LOTS	15	5
Image and and an analysis of the analys	229	while moving from Jorabat towards Khetri		REGULAR	170	OPEN	DC	35	35	1225	32	95	LOTS	15	5
Image: Control transmission for the set of	230	Hajo Road)	KAMRUP	REGULAR	165	OBC	DC	35	35	1225	32	95	LOTS	15	4
12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12         12<	231	CORRIDOR) TOWARDS MAHUR	DIMA HASAO	REGULAR	200	ST	CFS	35	35	1225	0	0		0	3
131         Network Indugit outload is Muddle Outloa	232		KAMRUP	REGULAR	158	OPEN	DC	35	35	1225	32	95		15	5
Interface         Interface <t< td=""><td>233</td><td>Between Nilbagan Bazar Jama Masjid to Borboha HS, Hirabosti towards</td><td>NAGAON</td><td>REGULAR</td><td></td><td></td><td></td><td>35</td><td>35</td><td>1225</td><td></td><td></td><td>2010</td><td></td><td>-</td></t<>	233	Between Nilbagan Bazar Jama Masjid to Borboha HS, Hirabosti towards	NAGAON	REGULAR				35	35	1225			2010		-
Jack         Ward/ Ward 2000         MaxADM         Ward/Ward         Ward/Ward         MaxADM         Ward/Ward         MaxADM         Ward/Ward         MaxADM         Ward/Ward         MaxADM         MaxADM         Ward/Ward         MaxADM					166	OPEN	DC					95		15	
135         Number         Number <td>234</td> <td></td> <td></td> <td>ILCOOD III</td> <td>166</td> <td>OPEN</td> <td>DC</td> <td></td> <td></td> <td></td> <td>32</td> <td>95</td> <td>LOTS</td> <td>15</td> <td>5</td>	234			ILCOOD III	166	OPEN	DC				32	95	LOTS	15	5
Boldent         Insclute         Picture         Solution         Los         Los <thlos< th=""> <thlos< th="">         Los</thlos<></thlos<>	235	(NEW) / NH 37 (OLD)	KAMRUP				-			1225			LOTS DRAW OF LOTS		
D2         Directively 12 read/s shall meaning from thansame strength jobershall         MUTEDPORT         Profile         Directively 12         Profile         Directively 12         Directively 12<		(NEW) / NH 37 (OLD) FROM HP HAILAKANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NHG		REGULAR	160	OBC	DC	35	35		32	95	LOTS DRAW OF LOTS DRAW OF LOTS	15	4
1238         Minin AM of central subgeno 59 i3 sevent disageno functional method subgeno f	236	(NEW) / NH 37 (OLD) FROM HP HAILAKANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH6 On NH315, Within 5 KM from Margherita Town High School towards Digboi	HAILAKANDI TINSUKIA	REGULAR	160 180	OBC OPEN	DC DC	35 25	35 25	625	32 32	95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15	4
1233         Barbeer Designed Training unit and Figured Developing on Figure Designed DesignedDesigned Designed Designed DesignedDesigned Designed Designed Desi		(NEW) / NH 37 (OLD) FROM HP HALLAKANDI (HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH <del>B</del> On NH-315, Within 5 KM from Margherita Town High School towards Digboi Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-	HAILAKANDI TINSUKIA KAMRUP	REGULAR REGULAR REGULAR	160 180 156	OBC OPEN ST	DC DC CFS	35 25 35	35 25 35	625 1225	32 32 0	95 95 0	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 0	4 5 3
1000         With is inform form functional and is along and build mode of an inform form functional and is shown on single build mode of an inform form function and along build mode of an inform form function and along build mode of an inform function and along build mode along	237	(NEW/ /NH 37 (OLD) FROM HP HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH=0 ON NH=315, Within 5 KM from Margherita Town High School towards Digboi Between KM stone no. 167 and Km Stone no. 171 on LHS of NH- 27 (new)/NH 37 (old) while moving from Khanapara towards korabat	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN	REGULAR REGULAR REGULAR REGULAR	160 180 156 150	OBC OPEN ST OPEN	DC DC CFS DC	35 25 35 30	35 25 35 31	625 1225 930	32 32 0 32	95 95 0 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 0 15	4 5 3 5
International multiplication         FAMBUP         FEGURAR         1.6         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0         0	237 238	INEW / NH 37 (QLD) FROM HP HALLAKANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA QN NHE ON NHE JISJ, Within 5 KM from Margherita Town High School towards Digboi Between KM stone no. 167 and Km Stone no. 171 on LHS of NH- 2Z(new)/NH 32 (old) while moving from Khanapara towards Jorabat. Within 3 KM of Central Jail, Nagaon on SH 18 towards Sialmari Bazar Between Chapaguri Chariali traffic point and Kajalgaon Overbridge on NH	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON	REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165	OBC OPEN ST OPEN OBC	DC DC CFS DC DC DC	35 25 35 30 30	35 25 35 31 30	625 1225 930 900	32 32 0 32 32 32	95 95 0 95 75	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 0 15 15	4 5 3 5 4
Dim No.2023         OWER DATA TORST CHARLAND RATING CHARAU ON         DIBRUGARH         REGULAR         260         OPEN         DC         45         45         2025         32         95         DRMU OF           241         LIT HANGE CHARAUL TO UN TOLE TO MARCE CHARAU ON 1702 IN LAZA ON 19-27         KAMBUP         NGLIAR         250         OPEN         DC         35         35         1225         32         95         DRMU OF         15         5           244         ON HI-55 from Linkdogarh Police Out post_Linkdogarh Police Ou	237 238 239	INEW / NH 37 (QD) ROM HP HALAKANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA QN NHG ON NHG JIS, Within 5 KM from Margherita Town High School towards Digboi Between KM stone no. 167 and Km Stone no. 171 on LHS of NH- 27(new)/NH 32 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jail, Nagaon on SH 18 towards Sialman Bazar Between Chapaguri Chariali traffic point and Kajalgaon Overbridge on NH 27 (LHS While going from chapaguri to Kajalgaon	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG	REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219	OBC OPEN ST OPEN OBC OPEN CC 1	DC DC CFS DC DC DC DC	35 25 35 30 30 35	35 25 35 31 30 35	625 1225 930 900 1225	32 32 0 32 32 32 32 32	95 95 0 95 75 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 0 15 15 15	4 5 3 5 4 5
Lift HAUS SIGE TOWARDS MARKINGHT         Lots         Lots         Lots         Lots           44         BANAR CANAULT OT IN BREVER MADARY UND LY LAZA ON NH-27         KAMBUP         REGULAR         250         OPEN         DC         35         35         1225         32         95         DAVA OF         15         5           44         ON HAS LEMINAR TO EXPORTAGINARY CONTRACTOR MADARY DIFFERENCIAM         LODS HAT         REGULAR         120         OPEN         DC         35         35         1225         0         0         DAVA OF         15         5           248         Between Solmari Anchon and Agia Bus top on 37(GM/ HH-17 (Pen) on USHA. MEG AMART BUCHAGART TO AMAPULP PHC ON HH 17 (Pen) on GOALPARA.         REGULAR         160         OPEN         DC         35         35         1225         0         0         DAVAN OF         15         5           240         VISHA. MEGA MART BUCHAGART TO AMAPULP PHC ON HH 17 (Pen) on GOALPARA.         REGULAR         120         OPEN         DC         35         35         1225         0         0         DAVAN OF         15         5           247         Whithin R Mod of Issuery IMM AMARG MART TO AMAPULP PHC ON HH 17 (PEN)         KAMABUP         REGULAR         120         OPEN         DC         30         300	237 238 239 240	(NEW / NH 37 (QD)     FROM HP HALLAKANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     (DN NH6     ON NH6     ON NH6     CON NH6     CON NH6     CON STATUS     CON STA	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165	OBC OPEN ST OPEN OBC OPEN CC 1 SC	DC DC CFS DC DC DC CFS	35 25 35 30 30 30 35 35	35 25 35 31 30 35 35 35	625 1225 930 900 1225 1225	32 32 0 32 32 32 32 0	95 95 0 95 75 95 0	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 0 15 15 15 0	4 5 3 5 4 5 3
Ards       One List Seawards Control List       Control       240       OPEN       U.       35       35       1225       32       95       107       15       5         244       On NH715, from Lahdoiganh Police Out post, Lahdoiganh Net Cont post, Lahdoiganh Police Out post, Lahdoiganh Police Ou	237 238 239 240 241	(NEW / NH 37 (QD)     FROM HP HALLAKANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     (DN NH6     ON NH6     (DN NH6	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA KAMRUP	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC	DC DC CFS DC DC DC CFS DC DC	35 25 35 30 30 30 35 35 30	35 25 35 31 30 35 35 35 30	625 1225 930 900 1225 1225 900	32 32 0 32 32 32 32 0 32	95 95 0 95 75 95 0 75	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 0 15 15 15 0 15	4 5 3 5 4 5 3 4 4
LAR       Construction       LORMAN       Recourse       Loss       Loss <thloss< th=""> <thloss< th="">       Loss</thloss<></thloss<>	237 238 239 240 241 242	INEW / NH 37 (OLD)     FOOM PF HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH=3     FOOM PF HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH=3     Nethod Pumpi ( Nethod P	HAILAKANDI TINSUKIA KAMRUP METROPOUTAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN	DC DC CFS DC DC DC DC CFS DC DC DC	35 25 30 30 30 35 35 30 45	35 25 35 31 30 35 35 35 30 45	625 1225 930 900 1225 1225 900 2025	32 32 0 32 32 32 32 0 32 32 32 32	95 95 0 95 95 95 0 75 0 75 95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 0 15 15 15 15 0 15 15	4 5 3 5 4 5 3 4 5 3 4 5
AND       Left hand side (words Naraarray Stu)       Obd Wake       Include       I.S.       J.Y.       J.Y.       D.Y.       J.Y.       D.Y.       J.Y.       D.Y.       J.Y.       <	237 238 239 240 241 242 243	(NEW) / NH 37 (QD)     (FOM PF PALKARNOT (AND SPECTOL PETROL PUMP) TO AYNAKHAL TINMUKHA     (ON NH45     (ON NH-315, WILHIS KM from Margherita Town High School towards     [Dibb]     (Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     27(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on SH 38 towards Salaman Bazar     Between Chaganguri Chrail Taffy comprised to the store on Comprise     Between Chaganguri Chrail Taffy comprised to Kaganguri Chrail Taffy comprised to the store on the store store store on the store on the store on the stor	HAILAKANDI TINSUKIA KAMRUP METROPOUTAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH KAMRUP	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OPEN	DC DC CFS DC DC DC CFS DC CFS DC DC DC	35 25 30 30 35 35 35 30 45 35	35 25 35 31 30 35 35 30 45 35	625 1225 930 900 1225 1225 900 2025 1225	32 32 0 32 32 32 32 0 32 32 32 32 32	95 95 0 95 75 95 0 75 95 95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 0 15 15 15 15 0 15 15 15 15	4 5 3 5 4 5 3 4 5 5 5 5
Law         NH-32 (CRD)         Louring         Louring <thlines< th=""> <thlines< th=""> <thlin< <="" td=""><td>237 238 239 240 241 242 243 244</td><td>INEW / NH 37 (OLD) FROM HP HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON HY315, WHIN SKM from Margherita Town High School towards Digboi Between KM stone no. 167 and Km Stone no. 171 on LHS of NH- Zifnewi/NH 37 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jail, Nagaon on SH 18 towards Salamari Bazar Between Chanaguri Chariali traffic point in disajagaon Overbridge on NH 27 LINS While exing from chanagari to stajalgaon Overbridge on NH 27 LINS While exing from chanagari to stajalgaon Overbridge on NH 27 LINS While Boing from chanagari to stajalgaon Overbridge on NH 27 LINS While Boing from chanagari to stajalgaon Within 5 kms from Kumariata POIlec Dupost on Rangia Bhutan Road on NH-1270 towards Bhutan Between Pakhamela Chow and Ramdia HS School on SH-41 (on Hajo- Ramdia Road) ON NH528, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON LEFT HAND SIDE TOWARDS KHAMTIGHAT BAIHATA CHARIALI TO 1 km before MADAPUR TOLI PLAZA ON NH-27 ON UNIS (BAIHATA to GUWAHAT CHOY DIRECTION) On NH-715, from Lahdoigarh Police Out post, Lahdoigarh to Teok</td><td>HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH KAMRUP JORHAT</td><td>REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR</td><td>160 180 156 150 165 219 165 168 260 250 180</td><td>OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OPEN OBC</td><td>DC DC CFS DC DC CFS CFS DC CFS DC DC DC</td><td>35 25 30 30 30 35 35 30 45 35 35</td><td>35 25 35 31 30 35 35 30 45 35 35 35</td><td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225</td><td>32 32 0 32 32 32 0 32 32 32 32 32 32</td><td>95 95 0 95 75 95 0 75 0 75 95 95 95</td><td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS</td><td>15 0 15 15 15 0 15 15 15 15 15 15</td><td>4 5 3 4 5 3 4 5 5 5 5 4</td></thlin<></thlines<></thlines<>	237 238 239 240 241 242 243 244	INEW / NH 37 (OLD) FROM HP HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON HY315, WHIN SKM from Margherita Town High School towards Digboi Between KM stone no. 167 and Km Stone no. 171 on LHS of NH- Zifnewi/NH 37 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jail, Nagaon on SH 18 towards Salamari Bazar Between Chanaguri Chariali traffic point in disajagaon Overbridge on NH 27 LINS While exing from chanagari to stajalgaon Overbridge on NH 27 LINS While exing from chanagari to stajalgaon Overbridge on NH 27 LINS While Boing from chanagari to stajalgaon Overbridge on NH 27 LINS While Boing from chanagari to stajalgaon Within 5 kms from Kumariata POIlec Dupost on Rangia Bhutan Road on NH-1270 towards Bhutan Between Pakhamela Chow and Ramdia HS School on SH-41 (on Hajo- Ramdia Road) ON NH528, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON LEFT HAND SIDE TOWARDS KHAMTIGHAT BAIHATA CHARIALI TO 1 km before MADAPUR TOLI PLAZA ON NH-27 ON UNIS (BAIHATA to GUWAHAT CHOY DIRECTION) On NH-715, from Lahdoigarh Police Out post, Lahdoigarh to Teok	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH KAMRUP JORHAT	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OPEN OBC	DC DC CFS DC DC CFS CFS DC CFS DC DC DC	35 25 30 30 30 35 35 30 45 35 35	35 25 35 31 30 35 35 30 45 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225	32 32 0 32 32 32 0 32 32 32 32 32 32	95 95 0 95 75 95 0 75 0 75 95 95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 0 15 15 15 0 15 15 15 15 15 15	4 5 3 4 5 3 4 5 5 5 5 4
Morigan Read (SH 03)         Morigan R	237 238 239 240 241 242 243 244	INEW / NN 37 (OLD) FROM PF PHALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON NH315, WINEN SKM from Margherita Town High School towards Digbol Between KM stone no. 167 and Km Stone no. 171 on LH5 of NH- Zinewi/NH 37 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jall, Nagaon on SH 38 towards Salamari Bazar Between Chanaguri Chariali traffic point and Kajalgaon Overbridge on NH 27 LUIS While exing from chanapari to Kalalgaon Within 5 Km from Kumarinata Police Dupost on Rangia Bhutan Road on NH-1270 towards Bhutan Between Pakhamela Chowk and Ramdia HS School on SH-41 (on Hajo- Ramdia Road) Elet HAND Sile TOWARDS KHANTIKEHAT BAIHATA CHARRALI TO S Km before MADAPUR TOLI PLAZA ON NH-27 ON NH528, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON LEFT HAND Sile TOWARDS KHANTIKEHAT BAIHATA CHARRALI TO S Km before MADAPUR TOLI PLAZA ON NH-27 ON HS-151, from Lahdolgarh Police Out post, Lahdolgarh to Took Between Solmari Junction and Agia Bus stop on 27(Old)/ NH-17 (New) on Left hand Sile Gavard Kharnanapan Setu	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH KAMRUP JORHAT	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OPEN OBC ST	DC DC CFS DC DC CFS CFS DC CFS DC DC DC	35 25 35 30 30 35 35 30 45 35 35 35 35	35 25 36 31 30 35 35 30 45 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225	32 32 0 32 32 32 0 32 32 32 32 32 32	95 95 0 95 75 95 0 75 0 75 95 95 95	LOTS DRAW OF LOTS DRAW OF	15 0 15 15 15 0 15 15 15 15 15 15	4 5 3 4 5 3 4 4 5 5 5 5 4 3
LAB         EHANIKAB CHARALIL         DIBRUGARH         REGURA         140         Osc         DC         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20         20	237 238 239 240 241 242 243 244 244 245	INEW / NN 37 (OLD) FROM PH PARLARAND ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON NH315, WINEN SKI from Margherita Town High School towards Digbol Between KM stone no. 167 and Km Stone no. 171 on LH5 of NH- 27(new)/NH 37 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jall, Nagaon on SH 38 towards Sialmari Bazar Between Chanagauri Chariali traffic point and Kajalgaon Overbridge on NH 27(LH5 While acing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While acing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While acing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While Boing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While Shutan Between Pakhamela Chow and Ramdia H5 School on SH-41 (on Hajo- Ramdia Road) CN NH528, FROM JOKAI FOREST CHARGHI AND KALIYONI CHARALI ON LEFT HAND SIDE TOWARDS KHANGHI TOLI PLAZA ON NH-27 OLI H15 (BHATA to GUWAHATI CHY DIRECTON) On NH-715, from Lahdoigarh Police Out post, Lahdoigarh to Tock Between Solmari Junction and Agia Bus stop on 27(Old) NH-17 (New) on Left hand Side Canadri Karanarans Setu VISHAI MEGA MART BUOYNAGAR TO RAMPUR PHC ON NH 17 (NEW)// NH-737 (OLD)	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH KAMRUP JORHAT GOALPARA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180 151	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OPEN OBC ST	DC DC CFS DC DC DC CFS DC DC DC DC CFS	35 25 35 30 30 35 35 30 45 35 35 35 35	35 25 36 31 30 35 35 30 45 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225	32 32 0 32 32 32 32 32 32 32 32 32 0	95 95 0 95 75 95 95 95 95 95 95 0	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF	15 15 0 15 15 0 15 15 15 15 15 15 0 0	4 5 3 4 5 3 4 4 5 5 5 5 4 3
Part         Within Stm from Nagaon Namghar towards Chenge on Barpeta- Doublah-Hao food (HH-427)         BARPETA         REGULAR         150         SC         CrS         35         35         1225         0         0         DRAW OF LOTS         0         3           250         MUTHIN 3 XM FROM HPCL BARBAN SEWICE STATION TOWARDS MUSALPUR TAMULPUR ROAD (SH 66)         BAKSA         REGULAR         120         OPEN         DC         30         30         900         32         75         DRAW OF LOTS         15         5           251         On NH-315 (Mith S KM from Tingrai Railway Station         TINSUKIA         REGULAR         150         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         15         5           252         WITHIN S KM FROM CHANDA CHOWN TOWARDS RAMPUR ON NH 427         NALBARI         REGULAR         150         STPH         CrS         35         35         1225         32         95         DRAW OF LOTS         15         4           253         On NH-1329 (IdI M+39), within S KM from Khot Khoti High School         KARBI ANGLONG         REGULAR         150         STPH         CrS         35         1225         32         95         DRAW OF LOTS         15         5	237 238 239 240 241 242 243 244 244 245 246	INEW / NN 37 (OLD) FROM PH PAILARAND ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON NH315, Within S KM from Margherita Town High School towards Digbol Between KM stone no. 167 and Km Stone no. 171 on LH5 of NH- 27(new)/NH 37 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jail, Nagaon on SH 38 towards Sialman Bazar Between Chanaguri To chaialit traffic point and Kajalgaon Overbridge on NH 27(LH5 While acing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While acing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While acing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While Boing from chanapari to Kajalgaon Overbridge on NH 27(LH5 While Boing from chanapari to Kajalgaon Within 5 kms from Kumariata Police Dupost on Rangia Bhutan Road on NH-1270 towards Bhutan Between Pakhamela Chowkand Ramdia HS School on SH-41 (on Hajo- Ramdia Road) CN NH528, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON LEFT HAND SIDE TOWARDS KHANTIGHAT BAIHATA CHAIRALI TO 1 km before MADAPUR TOLI PLAZA ON NH-27 OH UH5 (BaHATA to GUWAHAT CHOY DIRECTON) On NH-715, from Lahdolgarh Police Out post, Lahdolgarh to Tock Between Solmari Junction and Agia Bus stop on 27(Old) NH-27 (New) on Left hand Side Canadr Sharanarash Setu VISHAL MEGA MART BUOYNAGAR TO RAMPUR PH CON NH 12 (NEW)// MH37 (OLD) Within 4KM of Liampatty Jama Masijd towards Morigaon on Nagaon- Moriezon Road (5H G)	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JOBRUGARH JORHAT GOALPARA KAMRUP	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180 151 160	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OBC ST OPEN	DC DC CFS DC DC DC CFS DC DC DC CFS DC DC	35 25 35 30 30 35 35 35 35 35 35 35	35 25 36 31 30 35 35 30 45 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32	95 95 0 95 75 95 95 95 95 95 95 0 0	LOTS DRAW OF LOTS DRAW OF LOTS	15 0 15 15 15 15 15 15 15 15 15 0 0	4 5 3 4 5 3 4 5 5 5 5 4 3 3 5 5 5 5 5 5
12:5:         WITHIN 3 KMS FROM HPCL BARBAN SERVICE STATION TOWARDS         BAKSA         REGULAR         120         OPEN         DC         30         30         900         32         75         DRAW OF LOR         15         5           251         On NH-315, Within 5 KM from Tingral Failway station         TINSUKIA         REGULAR         190         OPEN         DC         35         35         1225         32         95         DRAW OF LOR         15         5           252         WITHIN 5 KM from Tingral Failway station         TINSUKIA         REGULAR         152         ORC PH         DC         35         35         1225         32         95         DRAW OF LOR         15         4           253         On NH-129 (DId NH-39), within 5 KM from Khot Khoti High School towards Dimagur         KARBI ANGLONG         REGULAR         150         ST PH         CrS         35         1225         0         0         DRAW OF LOTS         15         5           254         From Bhawanipur Taffic Point on RHS of NH27         RARBI ANGLONG         REGULAR         184         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         15         5           255         MCUGLE, GRONT OT OLOR UP UPGURI NAN	237 238 239 240 241 242 243 244 244 245 246 247	INEW / NH 37 (OLD)     FOOM PF HALLACANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5     PANLACAANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5     ON HH315, Within 5 KM from Margherita Town High School towards     Jigböl     Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZTORWJ/NH 37 (Jold) while moving tram Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on SH 18 towards Sialmari Bazar     Between Chapaguri Charialt traffic point and Kajalgaon Overbridge on NH     J27 LUSs While going from chapaguri to Kajaligaon     Within 5 Km from Kumaritata Police Outpost on Rangia Bhutan Road on     NH-1270 towards Bhutan     Between Pakhamela Chowka and Ramdia HS School on SH-41 (on Hajo-     Ramdia Road)     ON NH528, FROM JOKA FOREST CHARALI AND KALIYONI CHARALI ON     LEFT LANN DISC POWARDS KHAMTHGHAT     SAIHATA CHARIALI TO 1 Km before MADAAPUR TOLI PLAZA ON NH-27     ON LH51 (BAIHATA CHARUALANI TO YAMBO SHAMTIGHT     SAIHATA CHARIALI TO SAIMPORT TOL     PLAZA ON NH-27     ON LH51 (BAIHATA CHARUALANI CHARUALI TON     LIEFT LANN DISC FOR LANDARY TOLI PLAZA ON NH-27     ON LH51 (BAIHATA CHARUALANI CHARUALI TON     LIEFT LANN DISC FOR LANDARY TOLI PLAZA ON NH-27     ON LH51 (BAIHATA CHARUALANI CHARUALI TON     LIEFT LANKI DISC FOR LANDARY TOLI DISCUTION)     ON NH-275, from LaNdalgarh Police Out post, LaNdolgarh to Teok     Between Solmari Junction and Agia Bus stop on 37(Old) / NH-37 (New) on     LIEft MARU BUGYARA RAR BUGYNARA TOL     VISHAL MECH AMAR BUGYNARA TOL     NUSHAL MECH AMAR BUGYNARA TOL     NUSHAL WICH AMAR BUGYNARA TOL     NUSHANA KAU TONN SETWERN DOORDARSHAN TV CENTRE AND     NO B	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH KAMRUP JORHAT GOALPARA KAMRUP NAGAON	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180 151 160 151 160 120	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OBC ST OPEN OPEN OPEN	DC DC CFS DC DC DC CFS DC DC DC DC CFS DC CFS DC DC DC	35 25 35 30 30 30 35 35 35 35 35 35 35 35 35 30	35 25 36 31 30 35 35 30 45 35 35 35 35 35 35 35 30	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	95 95 0 95 75 95 0 75 95 95 95 95 0 95 75	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF D	15 0 15 15 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 4 5 5 5 4 3 3 5 5 5 5 5 5
251       On NH-315,Within 5 KM from Tingrai Railway Station       TINSUKIA       REGURA       190       OPEN       DC       35       35       1122       32       95       DRAW OF LOR       15       5         252       WITHIN 5 KM FROM CHADA CHOWK TOWARDS RAMPUR ON NH 427       NALBARI       REGURA       152       OBC       35       35       11225       32       95       DRAW OF LOR       15       4         253       On HH-129 (Id NH-39), within 5 KM from Khot Khoti High School       KARBI ANGLONG       REGURA       150       STPH       Cr5       35       35       1225       0       0       DRAW OF LOR       0       33         254       From Bhawanigur Taffic Point Net Why Taffic Point on RHS of NH27       BARPETA       REGURA       160       OPEN       DC       35       35       1225       32       95       DRAW OF LOR       15       5         255       M COLECE, GRON TO ICR OD HUPGURI NANDINI ENERGY ON NH-17       KAMRUP       REGURA       160       OPEN       DC       35       35       1225       32       95       DRAW OF LOR       15       4         255       M COLECE, GRON TO ICR OD HUPGURI NANDINI ENERGY ON NH-17       KAMRUP       REGURA       160       OPEN       DC       30	237 238 239 240 241 242 243 244 245 244 245 246 247 248	INEW / NH 37 (OLD)     FOOM PF HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5     FOOM PF HALAKANOI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5     Dn NH315, Within S KM from Margherita Town High School towards     Jugboi     Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZTrew/NH 37 (Jold) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on SH 18 towards Sialmari Bazar     Between Chapaguri Charlit affic point and kajalgaon Overbridge on NH     ZY LHS While going from chapaguri Charlit at POINT to Kajalagaon     Within S Km from Kumaritata POIIce Oupost on Rangia Bhutan Road on     NH-1270 towards Bhutan     Between Pakhamela Chowk and Ramdia HS School on SH-41 (on Hajo-     Ramdia Road)     ON NH528, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON     LEFT LANN SIDE TOWANDS KHAMTIGHAT     BAIHATA to GUWAHATI CHY DIRECTION)     Gn NH-725, form Lahdogarh Police Out post, Lahdogarh to Teok     Between Solmari Junction and Agia Bus stop on 37(Old) / NH-17 (New) on     left hand Side towards Naranayaya Setu     VISHA MEGA MART BUDYNAGAA TO RAMPUR PHC ON NH 17 (NEW)/     NH-37 LOID     WITH A KM of Islampatry Jama Masjid towards Morigaon on Nagaon-     Moringaon Road (SH O)     NON RAJEN NH RAJEN NDORDARSHAN TV CENTRE AND     KHAMKA CHARALL	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           260           250           180           151           160           120           140	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OBC ST OPEN OPEN OPEN OPEN OBC	DC DC CFS DC DC DC CFS DC DC DC DC CFS DC CFS DC DC DC DC	35 25 35 30 30 35 35 35 35 35 35 35 35 35 30 20	35 25 36 31 30 35 35 35 35 35 35 35 35 30 20	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900 400	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	95 95 0 95 75 95 95 95 95 95 95 0 95 75 55	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF	15 0 15 15 0 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 5 5 5 4 3 5 5 5 5 4 4
252         WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427         NALBARI         REGULAR         152         ORC PH         DC         35         35         1225         32         95         DRAW OF LOTS         15         4           253         On NH-129 (Jid NH-39), within 5 KM from Khot Khoti High School towards Dimagur         KARBI ANGLONG         REGULAR         150         ST PH         CrS         35         35         1225         32         95         DRAW OF LOTS         0         33           254         From Bhavanigur Taffic Point on RHS of NH27 while going from Bhavanigur to Howly Taffic Point On RHS of NH27         REGULAR         184         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         5           255         NCOLLEG, SKOT OT OLOG DO HUPGURI NANDINI ENERGY ON NH-17 (NEW) / NH 37 (OLD)         KAMRUP         REGULAR         160         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         5           256         On Kamar Bandha Read, within 2 Kms from Chungi Tiniali towards Jorhat         JORHAT         REGULAR         140         OBC         DC         30         30         900         32         75         DRAW OF LOTS         15         4 <tr< td=""><td>237 238 239 240 241 242 243 244 245 244 245 246 247 248 249</td><td>INEW / INH 37 (QD)     FROM PH PALALAND ( HFCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     ON NH-315, WINKAND ( HFCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     ON NH-315, WINKAND ( HFCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     Setween KM stone no. 167 and Km Stone no. 171 on LH5 of NH-     ZTonev/NH 37 (old) while moving from Khanapara towards Jorabat.     Within 3 KM of Central Jail, Nagaon on SH 38 towards Sialmari Bazar     Setween KMapaguri Chariali taffe point and Kajigaon Overbridge on NH     ZTO Setween Charganguri Chariali taffe point and Kajigaon Overbridge on NH     ZTO towards Bhutan     Kumhin Sink Trok muranikata Police Oupost on Rangia Bhutan Road on     NH-1227 towards Bhutan     Kenven Pakhamale Chowk and Ramdia HS School on SH-41 (on Hajo-     ON NH528, FROM JOKAF OPEST CHARALI AND KAUPION CHARALI ON     BAIHATA CHARARUI TO 1 ta hofere MADAMPUR DTU PLAZA ON NH-27     ON LH51, from Lahdoigarh Police Out post, Lahdoigarh to Teok     Between Pakhamat Biotowards RuadTIGHAT     ON H374, RFGM JOKAF BORST CHARALI AND KAUPION CHARALI ON     BAIHATA CHARARU I D'I TA MEDICE OUT post, Lahdoigarh to Teok     Between Shahamat Buchwards Roma Setu     VISHAL MEGA MARE BUOYNAGAR TO RAMPUR HC ON NH 17 (NEV)/     NH-37 (CIDI)     Within 4 KM of Islampatry Jama Masigit towards Morigaon on Nagaon-     Mongaon Raad (SH 03)     ON DIBBUGARH TOWN, SETWEEN DODRARSHAN TV CENTRE AND     KIANHINA KHARI LH27.     Within Singon Marghar towards Chenga on Bargeta-     Doulashi-Hajo Road NH 270.</td><td>HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA</td><td>REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR</td><td>160           180           156           150           165           219           165           260           250           180           151           160           120           140           150</td><td>OBC OPEN ST OPEN OBC OPEN CC 1 SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN</td><td>DC DC CFS DC DC DC CFS DC DC DC DC CFS DC CFS DC CC CFS</td><td>35 25 35 30 30 35 35 35 35 35 35 35 35 35 30 20 20 35</td><td>35 25 36 31 30 35 35 35 35 35 35 35 35 30 20 20 35</td><td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900 400</td><td>32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32</td><td>95 95 0 95 75 95 95 95 95 95 95 95 0 95 75 55 0</td><td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF</td><td>15 0 15 15 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15</td><td>4 5 3 4 5 3 4 4 5 5 5 4 3 5 5 5 4 3 3 4 3 3 5 5 4 3 3 5 5 5 5</td></tr<>	237 238 239 240 241 242 243 244 245 244 245 246 247 248 249	INEW / INH 37 (QD)     FROM PH PALALAND ( HFCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     ON NH-315, WINKAND ( HFCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     ON NH-315, WINKAND ( HFCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     Setween KM stone no. 167 and Km Stone no. 171 on LH5 of NH-     ZTonev/NH 37 (old) while moving from Khanapara towards Jorabat.     Within 3 KM of Central Jail, Nagaon on SH 38 towards Sialmari Bazar     Setween KMapaguri Chariali taffe point and Kajigaon Overbridge on NH     ZTO Setween Charganguri Chariali taffe point and Kajigaon Overbridge on NH     ZTO towards Bhutan     Kumhin Sink Trok muranikata Police Oupost on Rangia Bhutan Road on     NH-1227 towards Bhutan     Kenven Pakhamale Chowk and Ramdia HS School on SH-41 (on Hajo-     ON NH528, FROM JOKAF OPEST CHARALI AND KAUPION CHARALI ON     BAIHATA CHARARUI TO 1 ta hofere MADAMPUR DTU PLAZA ON NH-27     ON LH51, from Lahdoigarh Police Out post, Lahdoigarh to Teok     Between Pakhamat Biotowards RuadTIGHAT     ON H374, RFGM JOKAF BORST CHARALI AND KAUPION CHARALI ON     BAIHATA CHARARU I D'I TA MEDICE OUT post, Lahdoigarh to Teok     Between Shahamat Buchwards Roma Setu     VISHAL MEGA MARE BUOYNAGAR TO RAMPUR HC ON NH 17 (NEV)/     NH-37 (CIDI)     Within 4 KM of Islampatry Jama Masigit towards Morigaon on Nagaon-     Mongaon Raad (SH 03)     ON DIBBUGARH TOWN, SETWEEN DODRARSHAN TV CENTRE AND     KIANHINA KHARI LH27.     Within Singon Marghar towards Chenga on Bargeta-     Doulashi-Hajo Road NH 270.	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           260           250           180           151           160           120           140           150	OBC OPEN ST OPEN OBC OPEN CC 1 SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC CFS DC DC DC CFS DC DC DC DC CFS DC CFS DC CC CFS	35 25 35 30 30 35 35 35 35 35 35 35 35 35 30 20 20 35	35 25 36 31 30 35 35 35 35 35 35 35 35 30 20 20 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900 400	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	95 95 0 95 75 95 95 95 95 95 95 95 0 95 75 55 0	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF	15 0 15 15 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 4 5 5 5 4 3 5 5 5 4 3 3 4 3 3 5 5 4 3 3 5 5 5 5
253         On NH-129 (old NH-39), within 5 KM from Khot Khoti High School         KABBI ANGLONG         REGULAR         150         ST PH         CFS         35         1225         0         0         DBAW OF LOTS         0         3           254         from Bhavanigur         Trick Point to Howly Traffic Point on RHS of NH27 while going from Bhavanigur to Howly         BARPETA         REGULAR         184         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         15         5           254         From Bhavanigur to Howly While going from Bhavanigur to Howly (NEW) / NH 37 (OLD)         KAMRUP         REGULAR         160         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         15         5           256         On Kamar Bandha Road, within 2 Kms from Chungi Tiniali towards Jorkat         JORHAT         REGULAR         140         OBC         DC         30         30         900         32         75         DRAW OF LOTS         15         4           257         On Kamar Bandha Road, within 2 Kms from Chungi Tiniali towards Jorkat         JORHAT         REGULAR         166         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS	237 238 239 240 241 242 243 244 245 244 245 246 247 248 249 250	INEW/, INI 37 (QD) FROM PH PALALARANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON NH-315, WINK SKI from Margherita Town High School towards Diaboi Between KH stone no. 167 and Km Stone no. 171 on LHS of NH- 27(new)/NH 37 (old) while moving from Khanapara towards Jorabat Within 3 KM of Central Jail, Nagaon on SH 81 Kowards Sialman Bazar Setween KHangung Chrailt traffs point and Kajagoon Overbridge on NH 27 (LHS Mulle acing from chanapart to Kaibiason Within S Km From Khanapara to Kaibiason Within S Km Strom Khanapara to Kaibiason NH-1272 Towards Bhutan Setween Palaparatel Chork and Bamdia HS School on SH 41 (on Hajo- Ramda Road) ON NH528, FROM JOKAF FOREST CHARALI AND KAIYONI CHARALI ON Bahrafa CHARAILT O's Inhore MADANPUR TOL ( HAZA ON NH-27 ON LHS ( BAHATA to GUWAHATI CITY DIRECTION) ON NH-137, from Lahdoiganh Police Out post, Lahdoiganh to Teok Between Palamatil TO Is inhore MaDANPUR TOL ( HAZA ON NH 17 NH-127 ( I diampathy Jama Masjid towards Morigaon on Nagaon- Morian Con Magaon Namghar towards Chenga on Barpeta- Doulashu High Road (H 42) VIMINS CHARALI VIMINS CHARA	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BAKSA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           260           250           180           151           160           120           140           150           120           120	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OBC ST OPEN OPEN OBC SC OPEN	DC DC CFS DC DC DC DC DC DC DC DC DC CFS DC DC CFS DC CFS DC CFS DC	35 25 35 30 30 35 35 35 35 35 35 35 35 30 20 20 35 30 30 20 35 30	35 25 36 31 30 35 35 35 35 35 35 35 35 35 30 20 20 35 30	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900	32 32 32 32 32 32 32 32 32 32 32 32 32 3	95 95 0 95 95 95 95 95 95 95 95 95 0 95 75 55 55 0 75	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF	15 0 15 15 0 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 4 5 5 5 4 3 5 5 5 4 3 5 5 4 3 5 5 5 5
Loss         Example         E	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251	INEW/, INI 37 (QD) FROM PH PALALARANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 ON NH-315, WILLARANDI ( HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA ON NH5 Bibbi Bibbi Bibbi Setween (Khagnay Chail and Khagnara towards Jorabat Within 3 XK of Central Jail, Nagaon on SH 81 Kowards Sialman Bazar Setween (Chagnay Chail and Traff) point and Kajagoan Overbridge on NH 27 (LHS Mille acine from chagaauri to Kaibiason Within 5 Km from Kmarikala Police Dupost on Rangia Bhutan Road on NH-1272 Towards Bhutan Setween Chagnay Chail and Fall point and Kajagoan Overbridge on NH 27 (LHS Mille acine from chagaauri to Kaibiason Within 5 km from Kmarikala Police Dupost on Sangia Bhutan Road on NH-1272 Towards Bhutan Setween Palamatel Chowk and Bamdia HS School on SH 41 (on Hajo- Rom HAS Sing TOWABOS KHAMTIGHAT SanHATA CHARIALT 10 Sin before MADANPUR TOL ( HAZA ON NH-27 ON HH52, BroM JICKAF OPEST CHARALI AND KAIYONI CHARALI ON BAIHATA CHARANTI 10 Sin before MADANPUR TOL ( HAZA ON NH-27 ON HH51, BAIHATA To GUWAHATI CITY DIRECTION) On NH-137, from Lahdoigant Police Out post, Lahdoigant to Teok Between Solimark BUOYNAGAR TO RAMPUR PHC ON NH 17 (NEW)/ VIH37 (LOD) Workan Road (H GJ) ON DIBBUGARH BUOYNAGAR TO RAMPUR PHC ON NH 17 (NEW)/ VIH31 ANG FROMN BETWEEN DOORDARSHAN TV CENTRE AND VIMINAS CHARALI WITHIN SI KMS FROM MICKA TOREST CHARACIS SENGY STATCHOT TOWARDS WITHIN SI KMS FROM PHC ANN BITWEEN DOORDARSHAN TV CENTRE AND VIMINAS CHARALI WITHIN SI KMS FROM MICKARA TO RAMPUR PHC ON NH 17 (NEW)/ VIMIN SI KMS FROM MICKARA TO RAMPUR STATCHOT TOWARDS WITHIN SI KMS FROM MICKARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARAN SENGY STATCHOT TOWARDS WITHIN S KMS FROM MICKARANARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARANARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARANARAN SENGY STATCHOT TOWARDS WITHIN SI KMS FROM MICKARAN SENGY STAT	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA JOBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           219           165           210           168           260           250           180           151           160           120           140           150           120           140           150           120           190	OBC OPEN ST OPEN OBC OPEN CC 1 SC OPEN OPEN OPEN OPEN OPEN OPEN OBC SC OPEN OPEN OPEN	DC DC CFS DC DC DC DC DC DC DC DC DC CFS DC DC CFS DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35 25 36 30 30 35 35 35 35 35 35 35 35 35 30 20 20 35 30 30 35 30 30 35 30 30 35	35 25 36 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 30 35 30 30 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 12	32 32 32 32 32 32 32 32 32 32 32 32 32 3	95 95 0 95 95 95 95 95 95 95 95 95 75 55 55 0 75 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW	15 0 15 15 0 15 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 4 5 5 4 3 5 5 5 4 3 5 5 4 3 5 5 5 5
LSN         while going from Bhavanigur to Howly         Baker In         RCOURN         LON	237 238 239 240 241 242 243 244 245 246 247 246 247 248 249 250 251 252	INEW / IN 19 27 (CDD)     FOM PH PAILANAND (I HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH-15     (NH NH SAKAND (I HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH-15     (NH NH SAKAND (I HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH-15     (NH SAKAND (I HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     (ON NH-15     (NH SAKAND (I HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     Setween KM stone no. 170 on UHS of NH-     27(new)/NH 37 (old) while moving from Khanapara towards Jorabat     (Whihi 3 KM of Central Jail, Nagaon on SH 18 towards Salman Baza     Between Changaguri (Dchaidit Teffic point and Kajalgaon Overbridge on NH     27 (LHS While eding from changarui to Kajalgaon Overbridge on NH     27 (LHS While eding from changarui to Kajalgaon     Whihi 5120 towards Bohtan     Between Pahamela Chowk and Ramdia HS School on SH-14 (on Hajo-     Ramda Soa)     ON NH-325, FRIM JOAK POREST CHARLI AND KALIYONI CHARLI ON     LEFT LAND SIDE TOWARDS KHAMTIGHAT     DI HIS BMHATA to GUWHATCTUP URECTION!     ON NH-255, from Lahdoiganh Police Out post, Lahdoiganh to Teok     Between Solmari Junction and Agia Bastop on 37(Old) NH-37 (NEW)     VISHA MKGA KART BU/TWAGAK TO KAMPUR PHC ON NH 17 (NEW/)     NH-37 (OLD)     Whith a KM of Islampatty Jama Masigi towards Morigaon on Nagaon-     Miritaon Road (NH 427)     WITHIN 3 KMS FROM HPCL BARBARI SERVICE STATION TOWARDS     MUSLPUE NOM NAGAR OW SERVICE STATION TOWARDS     MUSLPUE NOM NUSLPUE RADU (SHARAN TV CENTRE AND     KAMKAR CHARAG MART BU/TWLER AND SK100     ON NH-37 (OLD)     WITHIN 3 KMS FROM HPCL BARBARI SERVICES TATION TOWARDS     MUSLPUE NAMUSCH MARTAUPUR ROAD (SHARAD NY     LEFT AMAD SIGA (SHART BU/TWLEAR AND     KAMKAR CHARAD (SHART BU/TWLEAR AND     KAMKAR CHARAG MART BU/TWLE	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           219           165           219           165           180           250           180           151           160           120           140           150           120           190           152	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN </td <td>DC DC CFS DC DC DC DC DC DC DC DC DC DC DC CFS DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC</td> <td>35 25 35 30 30 35 35 35 35 35 35 35 35 30 20 20 35 30 35 30 35 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35</td> <td>35 25 36 31 30 35 35 35 35 35 35 35 30 20 20 35 30 30 35 35 35 35 35 30 30 35 35 35 35 35 35 35 35 35 35 35</td> <td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900 400 1225 900 1225 900</td> <td>32 32 32 32 32 32 32 32 32 32 32 32 32 3</td> <td>95 95 0 95 95 95 95 95 95 95 95 95 75 55 55 0 75 95 95 95 95</td> <td>LOTS DRAW OF LOTS DRAW OF DRAW OF</td> <td>15 0 15 15 0 15 0 15 15 15 15 15 15 15 15 15 15</td> <td>4 5 3 4 5 3 4 5 5 5 4 3 5 5 5 4 3 5 5 5 4 4 3 5 5 4 4 3 5 5 5 4 4</td>	DC DC CFS DC DC DC DC DC DC DC DC DC DC DC CFS DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35 25 35 30 30 35 35 35 35 35 35 35 35 30 20 20 35 30 35 30 35 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	35 25 36 31 30 35 35 35 35 35 35 35 30 20 20 35 30 30 35 35 35 35 35 30 30 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900 400 1225 900 1225 900	32 32 32 32 32 32 32 32 32 32 32 32 32 3	95 95 0 95 95 95 95 95 95 95 95 95 75 55 55 0 75 95 95 95 95	LOTS DRAW OF LOTS DRAW OF DRAW OF	15 0 15 15 0 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 5 5 5 4 3 5 5 5 4 3 5 5 5 4 4 3 5 5 4 4 3 5 5 5 4 4
L35         (NEW) (NH 37 (QDI))         NAMMOR         REGULAR         100         OPEN         UC         35         35         1225         32         35         LOTS         13         5           256         On Kamar Bandha Road, within 2 Kms from Chungi Tiniali towards Jorhat         JORHAT         REGULAR         140         OBC         DC         30         30         900         32         75         DRAW OF LOTS         15         4           257         of NH after Misrit Havagaon Toll to Daboka Chariali Intersection of NH 27 and NH 29) towards Daboka Chariali on NH 27 E.W (Jold NH- 36)(In erstwhile Hojal District)         NAGAON         REGULAR         166         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         15         5           260         NH 291 (wards) Experime NH DPE)         NAGAON         REGULAR         166         OPEN         DC         35         35         1225         32         95         DRAW OF LOTS         15         5           260         NH 292 (wards) Experime NH DPE)         KABBI ANGLONG         REGULAR         170         ST         CFS         35         35         1225         0         0         DRAW OF LOTS         105           280         WTHTM 3	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253	INEW / INI 37 (CDD     INI 315, WITHIN 5K M From Margherita Town High School towards     Diabol     Setween KM stone no. 167 and Km Stone no. 171 on LHS of NH-     Z7(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on 5H 38 towards Salaman Bazar     Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     Z7(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on 5H 38 towards Salaman Bazar     Between Chargory Charall tafk point and Kajalagaon Overbridge on NH     Z7 (LHS Mhile poing from chapaguri to Kajalagaon     Whin 5 whin from Khanapatra Police Dupost on Rangia Bhutan Road on     Whin 5 whin from Khanapatra Police Dupost on Rangia Bhutan Road     ON NH-32, ROM JOAK OPGEST CHARALI AND KALIYONI CHARALI ON     LEFT LAND DIG TOWARDS KHAMTIGHAT     DIM STA, ROM JOAK OPGEST CHY DIRECTION     ON INI-33, ROM JOAK OPGEST CHY DIRECTION     ON INI-35, From Lahdoiganh Police Out post, Jahdoiganh to Teok     Between Solmari Junction and Agia Bast an Setu     UNH SI AMARTA BUTYNAGAR TO KAMPUR PHC ON NH 127 (NEW)/     NH-37 (CDD     Whith A KM of Islampatry Jama Masijd towards Morigaon on Nagaon-     Mirajaon Raad (NH 427)     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-315, KOM HECL BARBARI SERVICE STATION TOWARDS     MUSLEPUE TOWARDS RAMING SERVICE STATION TOWARDS     MUSLEPUE AND USLEPUE RAD QUPUR ROD ON NH 220     ON NH-315, KOM HCL BARBARI SERVICES TATION TOWARDS     MUSLEPUE AND MUSLEPUE RAD QUPUR ROD ON NH 427     ON NH-315 (2001     M H-319, Within 5 KM from Tingral Railway Station     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-329 (OLD NH-39), WITHIN 5 KM from Tingral Railway Station     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-329	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI KARBI ANGLONG	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           219           165           219           165           180           250           180           151           160           120           140           150           120           190           152           150	OBC OPEN ST OPEN OBC OPEN CC 1 SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35 25 35 30 30 35 35 35 35 35 35 35 35 30 20 20 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	35 25 36 31 30 35 35 35 35 35 35 35 30 20 20 35 30 30 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225	32 32 32 32 32 32 32 32 32 32 32 32 32 3	95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 0	LOTS DRAW OF LOTS DRAW OF DRAW OF DR	15 0 15 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 3 5 5 4 3 3 5 5 4 3 3 5 5 5 4 3 3 5 5 5 5
256         On Kamar Bandha Road, within 2 Km Strom Chungi Timilai towards Jorhant         JORHAT         REGULAR         140         OBC         DC         30         30         900         32         75         LDTS         15         4           257         of Nm Aard Midrat Mark Mayagano TOL Dobaboka Charil Intersection         Na Mark Midrat Midrat Mark Mark Mark Midrat Mark Mark Mark Mark Mark Mark Mark Mark	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 253	INEW / IN 19 27 (CD)     FOM PH PAILARAND (I HPCL PEROL PUMP) TO AYNAKHAL TINMUKHA     ON NH-515, WIthin 5 KM from Margherita Town High School towards     Diaboi     Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZY(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on 5H 18 towards Sialman Bazar     Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZY(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on 5H 18 towards Sialman Bazar     Between KM of Central Jail, Nagaon on 5H 18 towards Sialman Bazar     Between Rhapaguri Chariali traffic point and Kajalgaon Overbridge on NH     ZY(LHS While Boing from chapaguri to Kajalgaon     Within 5 Km from Kumaritata Police Oupost on Rangia Bhutan Road on     NH-1220 towards Bohtan     Between Pahamela Chowk and Ramdia HS School on SH-41 (on Hajo-     Ramdia Road)     ON NH-235, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON     LEF1 144NO SIGE TOWARDS KHANTIGHAT     BAHARTA CHARMALI TO 1 Km before MADAPUR TOLL PLAZA ON NH-27     Ohursdas Bhutan     Ded HIS BAHARTA to GUWARDS (HANATIGHAT     BAHARTA CHARMALI TO I Km before MADAPUR TOLL PLAZA ON NH-27     Ohursdar Kharanarana Setu     VISHAI MKGA MART BUOYNAGAR TO RAMPUR PHC ON NH 17 (NEW)/     NH-37 (OLD)     Within 4 KM of Islampatty Jama Masija towards Morigaon on Nagaon-     Mirigaon Road (IH 427)     WITHIN 3 KMS FROM HPCL BARBARI SERVICE STATION TOWARDS     MUSALPUR CAM NUSALPUR RAD LAWRUR ROAD (SHO SA)     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     On NH-315, Within 5 KM from Tingrai Railway Station     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     On NH-312 (IDU HI-30), within 5 KM from Tingrai Railway Station     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     On NH-312 (IDU HI-30), within 5 KM from Khot Khoel High School     towards Dimagur     From Bhawanipur Traffic Point to Howy	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA JOBRUGARH JOBRUGARH GOALPARA CAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI KARBI ANGLONG BARPETA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           219           165           210           168           260           250           180           151           160           120           140           150           152           150           152           150           152           150           184	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN </td <td>DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC</td> <td>35           25           35           30           30           35           30           35           30           35           30           35           30           35           30           35           35           35           35           30           20           35           30           20           35           30           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35</td> <td>35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35</td> <td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225</td> <td>32 32 32 32 32 32 32 32 32 32 32 32 32 3</td> <td>95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95</td> <td>LOTS DRAW OF LOTS DRAW OF DRAW O</td> <td>15 0 15 15 0 15 15 15 15 15 15 15 15 15 15</td> <td>4 5 3 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 5</td>	DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35           25           35           30           30           35           30           35           30           35           30           35           30           35           30           35           35           35           35           30           20           35           30           20           35           30           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35	35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225	32 32 32 32 32 32 32 32 32 32 32 32 32 3	95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95	LOTS DRAW OF LOTS DRAW OF DRAW O	15 0 15 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 5
257         of MH 27 and NH 29) (owards Daboka Chariali on NH 27 E.W (old NH- 36)(in restrict).         NAGAON         REGULAR         166         OPEN         DC         35         35         1225         32         95         DRAW 0F         15         5           2610         nstriktine Hojal Okristic).         On NH-29 (Old NH-36), within 6 KM from Langherang English L P School towards Mania (as per new NH DPR)         KARBI ANGLONG         REGULAR         170         5T         CrS         35         35         1225         0         0         DRAW 0F         0         3           258         On NH-29 (Old NH-36), within 6 KM from Langherang English L P School towards Mania (as per new NH DPR)         KARBI ANGLONG         REGULAR         170         5T         CrS         35         35         1225         0         0         DRAW 0F         0         3           259         UTHINI SKM FROM CHURLESKING STATION (HPCL PETROL PUMP)         KARIMGANI         REGULAR         170         OPEN         DC         35         35         1225         32         95         DRAW 0F         15         5           29         UTHINI SKM FROM CHURLESKING STATION (HPCL PETROL PUMP)         KARIMGANI         REGULAR         170         OPEN         DC         35         35         1225         32	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 253	INEW / NH 37 (OLD)     FOOM PF HALAKANOI ( HPCL PEROL PUMP) TO AYNAKHAL TINMUKHA     ON NH-515     WITHIN S KM From Margherita Town High School towards     Digbei     On NH-315, Within S KM from Margherita Town High School towards     Digbei     Zinew/NH 37 (Old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on SH 18 towards Sialmari Bazar     Between Chapaguri Chariali traffic point and Kajalgaon Overbridge on NH     27 (Liss While going from chapaguri to tsalajagan     Within 3 KM of Central Jail, Nagaon on SH 18 towards Sialmari Bazar     Between Chapaguri Chariali traffic point and Kajalgaon Overbridge on NH     27 (Liss While going from chapaguri to tsalajagan     Within S Kms from Kumaritata POIlec Dupost on Rangia Bhutan Road on     NH-1270 towards Bhutan     Between Pakhamela Chowk and Ramdia HS School on SH-41 (on Hajo-     Ramdia Road)     ON NH328, FROM JOCAI FOREST CHARALI AND KALIYONI CHARALI ON     LEFT HANS DISE TOWARDS KHANTIGHAT     BANHAT CHARMALI TO 1 Km before MADAIPUR TOLI PLAZA ON NH-27     Okurida K Marantara Agia Bus stop on 37(Old) / NH-17 (New) on     Lif-hand Side Cowards Kharanarayan Setu     VISHAL MKGA MART BUOYNAGAR TO RAMPUR PHC ON N H 127 (NEW)/     NH-217 (DUM SHARAMI AND KART BUOYNAGAR TO RAMPUR PHC ON N H 127 (NEW)/     NH-32 (OLD     On NH-215, FROM LAGAI MARING TO RAMPUR PHC ON N H 17 (NEW)/     NH-32 (NEM FROM TOWAGA KARAT BUOYNAGAR TO RAMPUR PHC ON N H 17 (NEW)/     NH-32 (NEM SHARAMI)     WITHIN S KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-315, KWITHIN S KM FROM THCL BARBARI SERVICE STATION TOWARDS     MUSLEPUET TAMULUR ROAD (SH 06)     ON NH-315, WITHIN S KM FROM THCL BARBARI SERVICE STATION TOWARDS     MUSLEPUET CHAMULUPUE ROAD (SH 06)     ON NH-312 (OLD)     NH-315 (MITHIN S KM FOON TINGRI RAMINA STATION     WITHIN S KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-312 (OLD)     NH-315 (NUTHIN S KM FOON TINGRU RINADULUR ROAD SHAPLE     ON SUSLEPUET TAMULUPUE ROAD (SH 06)     ON NH-3127 (OLD NH-310 (SH 16	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA JOBRUGARH JOBRUGARH GOALPARA CAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI KARBI ANGLONG BARPETA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           219           165           210           168           260           250           180           151           160           120           140           150           152           150           152           150           152           150           184	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN </td <td>DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC</td> <td>35           25           35           30           30           35           30           35           30           35           30           35           30           35           30           35           35           35           35           30           20           35           30           20           35           30           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35</td> <td>35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35</td> <td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225</td> <td>32 32 32 32 32 32 32 32 32 32 32 32 32 3</td> <td>95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95</td> <td>LOTS DRAW OF LOTS DRAW OF DRAW O</td> <td>15 0 15 15 0 15 15 15 15 15 15 15 15 15 15</td> <td>4 5 3 4 5 3 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5 5 4 3 5 5 5 5</td>	DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35           25           35           30           30           35           30           35           30           35           30           35           30           35           30           35           35           35           35           30           20           35           30           20           35           30           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35           35	35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225	32 32 32 32 32 32 32 32 32 32 32 32 32 3	95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95	LOTS DRAW OF LOTS DRAW OF DRAW O	15 0 15 15 0 15 15 15 15 15 15 15 15 15 15	4 5 3 4 5 3 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5 5 4 3 5 5 5 5
36)(In erstwhile Holai District)         Constraint         Constraint <td>237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255</td> <td>INEW / INI 37 (CDD     IN</td> <td>HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA GOALPARA CAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI KARBI ANGLONG BARPETA KAMRUP</td> <td>REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR</td> <td>160           180           156           150           165           219           165           280           280           250           180           151           160           120           140           150           150           120           140           150           151           160           120           140           150           152           150           164           160</td> <td>OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN     <!--</td--><td>DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC</td><td>35       25       30       30       30       35       30       35       30       35       30       35       35       35       35       35       35       35       35       35       35       30       20       35       30       35       30       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35</td><td>35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 30 35 35 35 35 35 35 35 35 35 35 35 35 35</td><td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225 1225 1225</td><td>32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32</td><td>95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95 95 95</td><td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DR</td><td>15           0           15           0           15           0           15           0           15           0           15           0           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           1</td><td>4 5 3 4 5 3 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5 5 4 3 5 5 5 5</td></td>	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255	INEW / INI 37 (CDD     IN	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA GOALPARA CAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI KARBI ANGLONG BARPETA KAMRUP	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           280           280           250           180           151           160           120           140           150           150           120           140           150           151           160           120           140           150           152           150           164           160	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN </td <td>DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC</td> <td>35       25       30       30       30       35       30       35       30       35       30       35       35       35       35       35       35       35       35       35       35       30       20       35       30       35       30       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35</td> <td>35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 30 35 35 35 35 35 35 35 35 35 35 35 35 35</td> <td>625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225 1225 1225</td> <td>32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32</td> <td>95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95 95 95</td> <td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DR</td> <td>15           0           15           0           15           0           15           0           15           0           15           0           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           1</td> <td>4 5 3 4 5 3 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5 5 4 3 5 5 5 5</td>	DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35       25       30       30       30       35       30       35       30       35       30       35       35       35       35       35       35       35       35       35       35       30       20       35       30       35       30       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35	35 25 31 30 35 35 35 35 35 35 35 35 30 20 20 35 30 20 35 35 30 30 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225 1225 1225	32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32	95 95 0 95 95 95 95 95 95 95 95 95 75 55 75 95 95 95 95 95 95 95 95 95 95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DR	15           0           15           0           15           0           15           0           15           0           15           0           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           1	4 5 3 4 5 3 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5 5 4 3 5 5 5 5
L250         towards Mania (as per new NH DPR)         NAMB/ ANGLONG         ILOU         S1         CrS         S3         S3         S1         CrS         S3         S1         S1         CrS         S3         S1         S1         CrS         S3         S1         S1         CrS         S3         S1         S1         CrS         S1         CrS         S3         S1         S1         CrS         S1         S1         CrS         S1         S1         CrS         S1         S1 <ths1< th=""> <ths1< th="">         S1</ths1<></ths1<>	237 238 239 240 241 242 243 244 245 244 245 246 247 248 246 247 250 251 252 255 256	INEW / JNH 32 (QD)     FOM HP FALKANON (J HECL PEROL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     ON NH-315, WINKINN IS KM from Margherita Town High School Towards     Digbol     Setween KM stone no. 167 and Km Stone no. 171 on LH5 of NH-     ZTinew/NH 32 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jali, Nagaon on SH 18 towards Sailmari Bazar     Setween KM stone no. 167 and Km Stone no. 170 on UH5 of NH-     ZTinew/NH 32 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jali, Nagaon on SH 18 towards Sailmari Bazar     Setween Chapaguri Charalit taffe Jorin and Kajigaon Overhridge on NH     ZZ (JUS While going from chapaguri to Kaibigaon     Within 5 Km from Kmanitaka Police Oupost on Rangia Bhutan Road on     NH-122D towards Bhutan     Randia Road;     ON NH528, FROM JOKAR FORST CHARALI JAND KAILON CHARALI ON     JAHATA CHARARI TO 1 to the before MADAMPUR DTU FLAZA ON NH-27     ON LH52, BeNL TO LANDER MADAMPUR DTU PLAZA ON NH-27     ON LH51, GROM JOKAR FORST CHARALI JAND KAULON CHARALI ON     BAHATA CHARARI LT O LIM before MADAMPUR DTU PLAZA ON NH-27     ON LH51, GROM JAKAR TO RAMOJANG AND TU PLAZA ON NH-27     ON LH51, Grom Lahdoigarh Police Out post,Lahdoigarh to Teok     Between Shafma RH BUOYNAGAR TO RAMDPUR HC ON NH 17 (NEW) On     VH51A MEGA MAR BUOYNAGAR TO RAMPUR HC ON NH 17 (NEW)/     WHITH A KM G Islampatry Jama Masijd towards Morigaon on Nagaon-     MON JOBRUCARH TO MANGER DOSC DARBHAN TV CENTRE AND     WITHIN 3 KMS FROM HH2L ABRARS SERVICE STATION TOWARDS     MUSHAR CHARIALI     WITHIN 3 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-232 (OH1 H-33), within 5 KM from Khot KH0 HIG High School     TOM TH 37 MH513, WHITIN SKM from Khot KH0 HIGH School     TOM Bawanajnu TTaffic Point DI MASAR SERVICE STATION TOWARDS     MUSALPUELOM MUSALPUEL MADAL CHOWK TOWARDS RAMPUR ON NH 427     NM H143 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     NM H143 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     NM H143 SMS FROM CHANDA CHOWK TOWA	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA KAMRUP DIBRUGARH KAMRUP JORHAT GOALPARA GOALPARA GOALPARA GOALPARA BARPETA BARSA TINSUKIA NALBARI NALBARI KARBI ANGLONG BARPETA KAMRUP	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           260           250           180           151           160           151           160           120           140           150           152           150           162           150           164           160           160           160           160           160           160           160           160           160           160           160           160	OBC OPEN ST OPEN OBC OPEN CC 1 SC OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC CFS DC DC DC DC DC DC DC DC DC DC DC DC DC	35           35           30           30           30           35           30           35           30           35           36           35           36           37           38           39           35           36           37           38           39           30           30           30           35           36           37           38           39           30           35           36           37           38           39           39           30           35           35           35           35           35           35           35           35           35	35       25       35       31       30       35       36       37       38       39       35       35       36       37       38       39       39       39       39       39       30       30       30       35       36       37       38       39       30       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       36       37	625 1225 930 900 1225 1225 900 2025 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225 1225 1225 1225	32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32           32	95           95           0           95           75           95           0           75           95           0           95           0           95           0           95           0           95           0           95           0           75           95           0           95           0           95           0           95           0           95           0           95           05           95           95           75	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DR	15           0           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15           15	4 5 3 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 6 7 7 7 7 7 7 7 7 7 7 7 7 7
259         TOWARDS PATHARKANDI ON NH8         KARIMIGAN         REGULAR         1/0         OPEN         DL         35         35         1225         32         95         LOTS         15         5           260         Do NU 115 Writhing AVM from Circuit Hours Strike         TINKLIKVA         REGULAR         240         ORC         DC         35         35         1225         32         95         LOTS         15         4	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255 255	INEW / INH 37 (QD)     FOM HP FALKARAND ( HFCL PERGL PUMP) TO AYNAKHAL TINMUKHA     ON NH5.     ON NH-315, WIKHIN S KM from Margherita Town High School Towards     Digbol     Setween KM stone no. 167 and Km Stone no. 171 on LH5 of NH-     ZTinew/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on SH 18 towards Sailmari Bazar     Setween KM stone no. 167 and Km Stone no. 171 on LH5 of NH-     ZTinew/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on SH 18 towards Sailmari Bazar     Setween Chapaguri Charalit taffe Loopost on Rangia Bhutan Road on     NH-127D towards Bhutan     Kumhin Skm Kron Kmanikata Police Oupost on Rangia Bhutan Road     ON NH528, FROM JOKAN FOREST CHARALI JANO KALION ICHARALI ON     LEFT HAND SIDE TOWARDS KHAMTIGHAT     ShuhaTa CHARMATI 10 1 km before MADAMPUR DTU PLAZAO N NH-27     ON LH51, from Lahdoigarh Police Out post,Lahdoigarh to Teok     Between Pahamath II O Link before MADAMPUR DTU PLAZAO N NH-27     ON LH51, from Lahdoigarh Police Out post,Lahdoigarh to Teok     Between Shaft ART BUOYNAGAR TO RAMDPUR DHC ON NH 17 (NEW) On     InH-715, from Lahdoigarh Daile Out post,Lahdoigarh to Teok     Between Shaft ART BUOYNAGAR TO RAMDPUR DHC ON NH 17 (NEW)/     MH54 K/G HARALI BUOYNAGAR TO RAMPUR DHC ON NH 27     ON JUBHUGARH TO MAY SERVICE STATION TOWARDS     MUTHIN 3 KM SFROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH54, PIGNA MH54, PIGNE OUDRABARH NT V CENTRE AND     WITHIN 3 KM SFROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH54, JEGNA MH54, JEGNARARI SERVICE STATION TOWARDS     MUSALPUELAMULPUE ROADG SAMPUR ON NH 427     ON NH54, JEGNA MH54, JEGNARARI SERVICE STATION TOWARDS     MUSALPUELAMULPUE ROADG SAMPUR ON NH 427     ON NH54, JEGNA HAJD, CHOWK TOWARDS RAMPUR ON NH 427     ON NH54, JEGNA HAJD, WHITS KM KTOR NH A KHOH High School     TOM TH 37 KM SFROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     OM NH54, JEGNA SAMAGAR SERVICE STATION TOWARDS     MUSALPUELAMULPUE ROADG SAMPUR ON	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA JOIBRUGARH GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BAKSA TINSUKIA NALBARI KARBI ANGLONG BARPETA KAMRUP JORHAT SAGAON	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180 151 160 150 150 150 150 150 150 150 150 150 15	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN           OBC           ST           OPEN	DC DC Crs DC DC DC DC DC DC DC DC DC Crs DC DC Crs DC DC DC Crs DC DC DC DC DC DC DC DC DC DC DC DC DC	35 35 30 30 35 35 35 35 35 35 35 35 35 35 35 35 35	35 25 31 30 35 35 35 30 45 35 35 35 35 35 35 30 20 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 1225 1225 1225 1225 1225 900 400 1225 900 1225 1225 1225 1225 1225 1225 1225 12	32 32 32 32 32 32 32 32 32 32	95           95           0           95           75           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95           95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DR	15       0       15       0       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15	4 5 3 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 4 3 5 5 5 4 3 5 5 5 5
	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 253 254 255 255 255	INEW / J.N. 19. 27 (20.)     INEW / J.N. 19. 27 (20.)     INE 312, WIKHIN 5 KM from Margherita Town High School Towards     Digbol     Setween KM stone no. 157 and Km Stone no. 171 on LHS of NH-     ZToew/NH 32 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jali, Nagaon on SH 18 towards Sailmari Bazar     Setween KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZToew/NH 32 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jali, Nagaon on SH 18 towards Sailmari Bazar     Setween Khapaguri Charalit taffe Jorin and Kailgaon Overhridge on NH     ZTUE Vowards Bhutan     Kumin stem Known Kumarkata Police Oupost on Rangia Bhutan Road on     Setween Phapaguri Charalit taffe Loopost on Rangia Bhutan Road     ON NH528, FROM JOKAN FOREST CHARALI JANO KALINON (CHARALI ON     HALT CHARARI TO 1 Km Joher MADAMPUR DI CHARALI ON     HAHTA CHARARI TO 1 Km Joher MADAMPUR DI CHARALI ON     HAHTA CHARARI TO 1 Km Joher MADAMPUR DI LPLA AND NIP CTOWARDS KHAMTIGHAT     Sherteen Pahamatin LTO 1 km Joher MADAMPUR DI LPLA AND NIP CTOWARDS KHAMTIGHAT     MHHATA CHARARAR BUOYNAGAR TO RAMDIAPHIC ON NH 17 (NEW) on     HH-135, from Lahdoigarh Police Out post,Lahdoigarh to Tae ke     Between Shafma RH BUOYNAGAR TO RAMDPUR HC ON NH 17 (NEW)/     MH54 K/G HARAHI DI CHN, SETVEE DOORDARSHAN TV CENTRE AND     MVHIha KKM CHARALIA     MUSLAPUER DOORDARSHAN TV CENTRE AND     WITHIN 3 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-232 (OH 2001 HA30, WHIT SAWN from Khot KHOH High School     TOM HJ 201 KMASCH TO RARARI SETVICE STATION TOWARDS     MUSHAR CHARALI     MUSLAPUER TAMULPUER ROAD SRAMPUR ON NH 427     ON NH-232 (OH 14-13), WHIT SAK MG ROM HCL BARARI SETVICE STATION TOWARDS     MUSHAR CHARALI     MUSLAPUER TAMULPUER ROAD SRAMPUR ON NH 427     ON NH-232 (OH 14-3), WHIT SAK MG MON KHOK TOK BARAPUR ON NH 427     ON NH-232 (OH 14-3), WHIT SAK MG MON KHOK TOK BARAPUR ON NH 427     MUTHIN 3 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     MUHIN SAK MG ROM CHARARARI SETVIC	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BARSA TINSUKIA NALBARI KARBI ANGLONG KARBI ANGLONG	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160 180 156 150 165 219 165 168 260 250 180 151 160 150 150 150 150 150 150 150 150 150 15	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OPEN           OBC           ST           OPEN	DC           DC	35       35       30       30       35       30       35       35       35       35       35       30       35       35       36       37       38       39       30       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35	35 25 31 30 35 35 35 30 45 35 35 35 35 35 35 30 20 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 1225 1225 1225 1225 1225 900 400 1225 1225 1225 1225 1225 1225 1225 12	32 32 0 32 32 32 32 32 32 32 32 32 32	95 95 95 95 95 95 95 95 95 95 95 75 55 0 75 95 95 95 95 95 95 95 95 95 95 95 95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF LOTS DRAW OF DRAW	15       0       15       0       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15	4 5 3 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 4 3 5 5 5 5
	237 238 239 240 241 242 243 244 245 246 247 248 249 250 251 252 255 255 255 255 255	INEW / IN 19 27 (CD)     FOM PH PAILANAND (I HPCL PETROL PUMP) TO AYNAKHAL TINMUKHA     ON NH-515, Within 5 KM from Margherita Town High School towards     Diabol     Setween KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZY(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on 5H 18 towards Sialman Bazar     Between KM stone no. 167 and Km Stone no. 171 on LHS of NH-     ZY(new)/NH 37 (old) while moving from Khanapara towards Jorabat     Within 3 KM of Central Jail, Nagaon on 5H 18 towards Sialman Bazar     Between KM of Central Jail, Nagaon on 5H 18 towards Sialman Bazar     Between Rhapaguri Chariali traffic point and Kajalgaon Overbridge on NH     ZY(LHS While Boing from chapaquri to Kajalgaon     Within 5 Km from Kumaritata Police Oupost on Rangia Bhutan Road on     NH-1220 towards Bohtan     Between Pahamela Chowk and Ramdia HS School on SH-41 (on Hajo-     Ramda Road)     CN NH528, FROM JOKAI FOREST CHARALI AND KALIYONI CHARALI ON     LEF1 LAVO SIGE SHOTAN     Device TO VARDS KHANATIGHAT     BAHATA CHARMALI TO 1 Km before MADAPUR TOLL PLAZA ON NH-227     Otwards Kharanaraon Setu     VISHA LMCGA MART BUDYNAGAK TO RAMPUR PHC ON NH 127 (NEW)/     HH-37 (OLD)     ON NH-315, from Lahdoiganh Police Out post, Lahdoiganh to Teok     Between Solmari Junction and Agia Bus stop on 37(Old)/ NH-17 (NEW)/     Within 4 KM of Islampatty Jama Masijd towards Morigaon on Nagaon-     Mirigaon Road (NH 427)     WITHIN 3 KMS FROM HPCL BARBARI SERVICE STATION TOWARDS     MUSALPUR AD MUSALPUR RAD UNHARDS MADYS     MUSALPUR AD MUSALPUR RAD CHOWK TOWARDS MANDY     CON H-315 (OHI H-30), within 5 KM from Tingrai Railway Station     WITHIN 3 KMS FROM HPCL BARBARI SERVICE STATION TOWARDS     MUSALPUR AD MUSALPUR RAD LHOWK TOWARDS RAMPUR ON NH 427     On NH-312 (OLD)     ON KH315 SWITCH 5, KM from Tingrai Railway Station     WITHIN 5 KMS FROM CHANDA CHOWK TOWARDS RAMPUR ON NH 427     ON NH-315 (WITH) 5 KM from Tingrai Railway Station     WITHIN 5 KMS FROM THOLE BARBARI SE	HAILAKANDI TINSUKIA KAMRUP METROPOLITAN NAGAON CHIRANG BAKSA BAKSA DIBRUGARH JORHAT GOALPARA KAMRUP NAGAON DIBRUGARH BARPETA BARSA TINSUKIA NALBARI KARBI ANGLONG KARBI ANGLONG KARBI ANGLONG	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	160           180           156           150           165           219           165           249           165           180           250           180           151           160           120           140           150           152           150           140           150           140           150           120           140           150           120           170           170	OBC           OPEN           ST           OPEN           OBC           OPEN CC 1           SC           OBC           OPEN           OBC           ST           OPEN	DC DC DC DC DC DC DC DC DC DC DC DC DC D	35       35       30       30       35       30       35       30       35       35       35       30       35       35       36       37       38       39       30       30       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35       35	35 25 33 31 30 35 35 35 35 35 35 35 35 35 35 35 35 35	625 1225 930 900 1225 1225 1225 1225 1225 1225 1225 900 400 1225 1225 1225 1225 1225 1225 1225 12	32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32       32	95 95 95 95 95 95 95 95 95 95 95 75 55 0 75 95 95 95 95 95 95 95 95 95 95 95 95 95	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF DR	15       0       15       0       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15       15	4 5 3 4 5 3 4 5 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 5 4 4 5 5 5 6 7 7 7 7 7 7 7 7 7 7 7 7 7

Description         Description <tttr></tttr>	261	Within 3 kms from SP office Hojai towards Lanka, on NH 27 E.W (Old NH	NAGAON	REGULAR	252	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
Descr     Desc	-					-									
Descr         Descr <t< td=""><td>-</td><td>tamarhat-Dhubri road (NH127B)</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>LOTS</td><td></td><td></td></t<>	-	tamarhat-Dhubri road (NH127B)										-	LOTS		
M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M     M    M    M <t< td=""><td>263</td><td></td><td></td><td></td><td></td><td></td><td>DC</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>	263						DC								
m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m     m    m    m    m    m	264	37 (old) while moving from Jorabat towards Khetri		REGULAR	170	OPEN	cc	35	35	1225	32	12	-	30	5
Normal	265		BARPETA	REGULAR	158	OPEN CC 1	DC	35	35	1225	32	95	LOTS	15	5
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	266	On NH-15, Within 7 KM from Kakopathar Police Station towards Rupai	TINSUKIA	REGULAR	200	OBC	DC	35	35	1225	32	95		15	4
D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D     D <thd< th="">     D     D     D     D<td>267</td><td></td><td>BARPETA</td><td>REGULAR</td><td>150</td><td>SC</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td></td><td>0</td><td>3</td></thd<>	267		BARPETA	REGULAR	150	SC	CFS	35	35	1225	0	0		0	3
D         Deck         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D <thd< th="">         D         <thd< th=""></thd<></thd<>	268		CHIRANG	REGULAR	219	OPEN	DC	35	35	1225	32	95		15	5
>     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >      >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >     >    >    >    ><	269	BETWEEN ST. LOUIS HIGH SCHOOL ,NOWAPARA AND CHHAYGAON	KAMRUP	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	270		TINSUKIA	REGULAR	190	OBC	DC	30	30	900	32	75	DRAW OF	15	4
Display         <	271		GOALPARA	REGULAR	225	ST	CES	35	35	1225	0	0		0	3
Description         Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>					-					-					
Description         Description <tttr> <ttr>         10        De</ttr></tttr>			-			-								-	
Dim	273	NH15	SONITPUR			-	DC						LOTS		
matrix     matrix    matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix     matrix <td>274</td> <td>Gate in Assam side</td> <td>JORHAT</td> <td>REGULAR</td> <td>180</td> <td>OPEN</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td>LOTS</td> <td>15</td> <td>5</td>	274	Gate in Assam side	JORHAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	LOTS	15	5
Image:	275	NH 27 E.W (Old NH - 37)	MORIGAON	REGULAR	155	OBC CC 1	DC	35	35	1225	32	95	LOTS	15	4
Display     Display    Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display     Display <thdisplay< th=""> <thdisplay< th=""> <thdisplay< th="">   &lt;</thdisplay<></thdisplay<></thdisplay<>	276	SchooL on NH 427	KAMRUP	REGULAR	160	SC CC 1	CFS	35	35	1225	0	0	LOTS	0	3
IM	277		NAGAON	REGULAR	173	OPEN PH	DC	35	35	1225	32	95		15	5
implementance         implementance        implemen	278		CHARAIDEO	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
Description         Description <ttttr> <tt>Descriptin</tt> <tt>Descri</tt></ttttr>	279		KAMRUP	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF	15	5
Description frequency         Descripticon         Description frequency         Des															
image:	280	Samthaibari on NH 27 (LHS while going from Bongaigaon to Srirampur)	CHIRANG	REGULAR	219	SI	CFS	35	35	1225	0	0	LOTS	0	3
Image: state	281		SONITPUR	REGULAR	210	OPEN	DC	35	35	1225	32	95		15	5
matrix		DOLABARI - CHAKIGHAT - JAMUGURI) Within 7 kms from HDFC Bank Rangia Branch towards Tulsibari on Rangia													
matrix	-	Tamulpur Road NH-127D											LOTS		
imate         imat         imat <td><u> </u></td> <td>Tulungia turning, North Salmara on NH-117</td> <td></td> <td>LOTS</td> <td></td> <td></td>	<u> </u>	Tulungia turning, North Salmara on NH-117											LOTS		
matrix processing and second secon	284		JORHAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	LOTS	15	5
matrix	285	Within 2 KM of Dhing Gate Flyover towards Christ Jyoti School on SH 47	NAGAON	REGULAR	165	SC	CFS	30	30	900	0	0	LOTS	0	3
pick         pick <t< td=""><td>286</td><td></td><td>SONITPUR</td><td>REGULAR</td><td>150</td><td>OBC</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td>LOTS</td><td>15</td><td>4</td></t<>	286		SONITPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	LOTS	15	4
Dis         Dissertion of any of	287		MORIGAON	REGULAR	155	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
<table-container>          Bis         Bis<td>288</td><td></td><td>CHARAIDEO</td><td>REGULAR</td><td>155</td><td>OPEN CC 1</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td>DRAW OF</td><td>15</td><td>5</td></table-container>	288		CHARAIDEO	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF	15	5
Bit Mathematicant intermediation of the set of the se	289		KARBI ANGLONG	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF	0	3
Image: Section of the sectin of the section of the section of th	290	Within 3 kms From Ahatguri SHC towards Nagaon, on LHS, on NH - 27					DC				32	95	DRAW OF	15	
D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D         D										-			DRAW OF	-	
Matrix         Monton						-				-				-	
main         main <t< td=""><td></td><td>Judicial Court</td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>LOTS</td><td>-</td><td></td></t<>		Judicial Court				-						-	LOTS	-	
Dial         Dial <thdia< th="">         Dial         Dial         <thd< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td>LOTS</td><td>-</td><td></td></thd<></thdia<>												-	LOTS	-	
101101100000100001000010000100001000010000100001000010000100001000010000100001000010000100001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000001000000100000010000001000000100000010000001000000100000001000000000010000000000001000000000000010000000000000001000000000000000000000000000000000000	-					-						-	LOTS		
Image bady from the set of	295	Naharkatia Tiniali, towards Rajgarh	DIBRUGARH	REGULAR	180	OPEN	DC	30	30	900	32	75	LOTS	15	
10         000000000000000000000000000000000000	296		NAGAON	REGULAR	120	OPEN	DC	30	30	900	32	75	LOTS	15	5
main         main <t< td=""><td>297</td><td>ON SH-27,BETWEEN NAHARKOTIA BUS STAND TO MORAN OVER BRIDGE</td><td>CHARAIDEO</td><td>REGULAR</td><td>150</td><td>OBC</td><td>DC</td><td>30</td><td>30</td><td>900</td><td>32</td><td>75</td><td>LOTS</td><td>15</td><td>4</td></t<>	297	ON SH-27,BETWEEN NAHARKOTIA BUS STAND TO MORAN OVER BRIDGE	CHARAIDEO	REGULAR	150	OBC	DC	30	30	900	32	75	LOTS	15	4
19.         19.400 areal constructiones of the sector	298	Within 10 km of Bordoa Police Station on SH 47 towards Nagaon	NAGAON	REGULAR	150	SC	CFS	30	30	900	0	0		0	3
1011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011011	299		BAKSA	REGULAR	160	OPEN	DC	30	30	900	32	75	DRAW OF	15	5
Diff         Diff <thdif< th="">         Diff         Diff         <thd< td=""><td>300</td><td>From Bhuyanpatty Kabristan to Water Resource Inspection Bunglow,</td><td>NAGAON</td><td>REGULAR</td><td>130</td><td>OPEN</td><td>DC</td><td>30</td><td>30</td><td>900</td><td>32</td><td>55</td><td>DRAW OF</td><td>15</td><td>5</td></thd<></thdif<>	300	From Bhuyanpatty Kabristan to Water Resource Inspection Bunglow,	NAGAON	REGULAR	130	OPEN	DC	30	30	900	32	55	DRAW OF	15	5
Image: Interpretation of the interpretation	301	WITHIN 4 KMS FROM BARBARI POLICE STATION TOWARDS BAGANPARA	BAKSA	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF	15	4
Image: Normal Sector 09 34 24 TWEEN NORMA CHARGED TO DIBLIGAM         Dibligam			WEST KARBI										DRAW OF		
Display AutoBalay Models AutoBalay	<u> </u>	RAIDONGIA GAON ON SH-27,BETWEEN MORAN OVERBRIDGE TO													
Bit Logar         Bit Logar <t< td=""><td></td><td>JOWAHAR NAVODAYA VIDYALAYA</td><td></td><td></td><td></td><td>-</td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>		JOWAHAR NAVODAYA VIDYALAYA				-	-								
Image Net Protect         Image Net Protect     <		Plant Joypur											LOTS		
103         104 PM 2. From Weiler		Road (NH 427)											LOTS		
MO         GOODER ADDITIONS ADDITI	306		DIBRUGARH	REGULAR	160	OPEN	DC	30	30	900	32	75	LOTS	15	5
Image Note Add         MICTOROUTING NUMBER NUMBER         MUMBER NUMBER N	307	(Goronga-Borhola Road)		Regular	120	ST	CFS	30	30	900	0	0	LOTS	0	3
19.00         NHTM 2 Nor FROM ANALYTMAN COMMANT MODRAM         OHEMAN         OHEMAN         OUNC         OUNC         OLS         OLS        OLS         OLS         OLS	308	Pamohi Road		RURAL	125	OPEN	DC	25	25	625	16	35	LOTS	5	4
131         Pron. Range 3OD C unifer to Khandika High School on Rangi Lathau         BMXAA         RURAL         60         ST         CrS         2.5         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25         6.25	309	WIHTIN 2 KMs FROM NARUATHAN CHARIALI ON CHAMARJAN ROAD OR		RURAL	90	OBC	DC	25	25	625	16	35	DRAW OF	5	3
111         MANQUE GAON LIMITS (ON SEPON - SUMPLAR ADA)         SIBEAGAR         RUBAL         100         OPEN         0.00         0.25         0.25         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0.26         0	310	From Rangia SDO Civil office to Khandikar High School on Rangia Latibari	BAKSA	RURAL	60	ST	CFS	25	25	625	0	0	DRAW OF	0	2
Number Name         Number Name         DARRANG         RUBAL         121         OPEN         DC         25         25         625         16         35         0000         5         43           131         Within 2 kms from standshamar Cirter towards Diskipuit Town on Nameedia Kapani Galo Galo         SONITPUR         RUBAL         74         06C         DC         25         25         625         16         35         DBAW OF         5         43           131         Within 5 km from Standshamar Cirter towards Diskipuit Town on Nameedia Kapani Galo Galo         BAKSA         8.UBAL         100         5C         CF5         25         625         16         35         DBAW OF         5         4           131         millable Kapani Galo Galo         SONITPUR         RUBAL         116         OPEN         DC         25         25         625         16         35         DBAW OF         5         4           131         FROM SKAUU STANDIN Immunity Diskopani Kaukanani Sonitripa Kakanani         SONITPUR         RUBAL         155         OPEN         DC         25         25         625         16         35         DBAW OF         5         4           313         FROM SKAUU STANDIN Immunity PEGN Social Assessin Sonitra Kakanana Palo Son	311		SIBSAGAR	RURAL	150	OPEN	DC	25	25	625	16	35	DRAW OF	5	4
Database         Description         Description <thdescription< th=""> <thdescription< th=""> <t< td=""><td>-</td><td>Within 2 kms from junction of Dalgaon Kopati Road and NH 15 towards</td><td></td><td></td><td>121</td><td>OPEN</td><td></td><td>25</td><td>25</td><td>625</td><td>16</td><td>35</td><td>DRAW OF</td><td>5</td><td>4</td></t<></thdescription<></thdescription<>	-	Within 2 kms from junction of Dalgaon Kopati Road and NH 15 towards			121	OPEN		25	25	625	16	35	DRAW OF	5	4
Indexedual Ration Gaudin Mage         Image: Control Ration Gauid Mage         Image: Control Ration Gaudin Mage		Within 2 Kms from Rakshamari Center towards Dhekiajuli Town on				-							DRAW OF	-	
Mark         Originality Decading         Decading <thdecading< th="">         Decading         Decading</thdecading<>	<u> </u>	Nagenkati Kachari Gaon Road Within 5km from Gandhi High School, Bholukamuri towards Mushalpur													
131         ON KANAKATA PATH (In estabulie Biswandt) District)         SOM POR         NUMBER         Construction	<u> </u>	on Jalah to Mushalpur Road		-							-		LOTS		
111         Hallidysam: Marcchar Road         MANKACHAR         RORAL         133         OPEN         DL         AS         CAS         CAS <thcas< th="">        CAS        CAS         CA</thcas<>		ON KANAKLATA PATH (In erstwhile Biswanath District)				-							LOTS		
11       FROM SEAULIS STATION TINUAL 10 ADDOM TINUAL, ON MYSH       CLARIMOV       RORAL       120       OBC       UC       2.5       2.5       6.5       1.6       3.5       UTS       5       3.5         318       FROM SEAULIS TAMMARMARY PERMARY SCHOOL ON NALTALI- SUCHAT LIT CNARMARMARY PERMARY SCHOOL ON NALTALI- WITHIN 3 KM FROM SUGAL SCHOOL ON NALTALI- SUCHAT LIAK TAM CARAMENTA PERMARY SCHOOL ON NALTALI- WITHIN 3 KM FROM SUGAL SCHOOL ON NALTALI- SUGAL JUNCTION SUGAL SCHOOL ON NALTALI- WITHIN 3 KM FROM JUGISUTI TIBAL HIGH SCHOOL       NAGAON       RURAL       9.4       ST       CFS       2.5       2.5       6.25       1.6       3.5       DAW OF LOTS       0       2.0         201       WITHIN 3 KM FROM JUGISUTI TIBAL HIGH SCHOOL       DHEMAJI       RURAL       120       OBC       DC       2.5       2.5       6.25       1.6       3.5       DRW OF LOTS       0       2.0         201       WITHIN 3 KM FROM BUGGE ON BARK BUER AT ANAPURAN (DEC NO DUCHAR BUER) ON BARK BUER AT ANAPURAN (DEC NO DUCHAR BUER) ON BARK BUER AT ANAPURAN (DE NO DUCHAR BUER) ON BARK BUER AT ANAPURAN (DE NO DUCHAR BUER) PERMARY SCHOOL ON BEETI- SONITPUR       RURAL       136       OPEN       DC       2.5       2.5       6.25       1.6       3.5       DRW OF LOTS       5       4.4         222       RANGSALI ROAD (IN erstwhile Biswanth Buster)       SONITPUR       RURAL       6.60       <	316			RURAL	135	OPEN	DC	25	25	625	16	35	LOTS	5	4
131       SUGHAT-JAKHALABANDHA ROAD       NARAUN       NORAL       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00       0.00	317		LAKHIMPUR	RURAL	120	OBC	DC	25	25	625	16	35	LOTS	5	3
313       Writini Aum Iron Saudarvinta Mini HIL on Saudarvinta Magimara Roda       BBKNA       RURAL       94       S1       CFS       25       25       625       0       0       LOTS       0       22         220       WITHIN 3 KM RROM JUGISUIT TRIBAL HIGH SCHOOL       DHEMAJI       RURAL       120       OBE       DC       25       25       625       16       35       DRAW OF       33       33         221       WITHIN 3 KM RROM JUGISUIT TRIBAL HIGH SCHOOL       DHEMAJI       RURAL       135       OPEN C1       DC       25       25       625       16       35       DRAW OF       54       4         221       EHAT ON DULPHATL SIDE TOMARDS RANGSALU ON BEDETI- FUNCTION OF OT OF JUL BAZAR AND NEW?       SONITPUR       RURAL       136       OPEN       DC       25       25       625       16       35       DRAW OF       54       4         222       RANGSALI ROAD (In erstwhile Biowarah District)       SONITPUR       RURAL       136       OPEN       DC       25       25       625       16       35       DRAW OF       10TS       6       4         232       BUTKEEN BHALUKGATATA CHOWKAND CIRCLE OFFICE, CHAMARIA (ON ROG C- DAMARIA ROAD)       KURAL       RURAL       660       ST       CF	318		NAGAON	RURAL	55	OPEN	DC	25	25	625	16	35	LOTS	5	4
320         WITHIN 3 KM FROM JUGISUTT TRIBAL HIGH SCHOOL         DHEMAJI         RURAL         120         OBC         DC         25         25         625         16         35         DRAW OF LOTS         5         3           321         WITHIN 7 KM FROM WENDEDC FON BARK RIVER A TANNAPURNA GHAT ON DUHPATIL SIDE TOWARDS ROAD CONNECTING TO THE JUNCTON POINT OF DAUL BAZA AND NINTS         CACHAR         RURAL         135         OPEN CC1         DC         25         25         625         16         35         DRAW OF LOTS         5         4           321         GHAT ON DUHPATIL SIDE TOWARDS RANGSAU ON BEDETI- FUNCTION POINT OF DAUL BAZA AND NINTS'         SONITPUR         RURAL         136         OPEN         DC         25         25         625         16         35         DRAW OF LOTS         5         4           323         WITHIN 5 KMS FROM BEDETI- FUNCTION FOOM Gossiageon Rainaway Temple, Schappur(Machangdoba) on Gossiageon - Tamarha Road         SONITPUR         RURAL         60         ST         CFS         25         25         625         16         35         DRAW OF LOTS         5         4           323         TEMES NAHALINGAL MECHANTA CHOWK AND CIRCLE OFFICE,CHAMARIA (ON EXCHANTA CHOWK AND CIRCLE OFFICE,CHAMARIA FL         RURAL         60         ST         CFS         25         25         625	319	Within 2km from Saudarvitha Mini PHC on Saudarvitha Baghmara Road	BAKSA	RURAL	94	ST	CFS	25	25	625	0	0		0	2
WTTHIN 7 KMS FROM NEW BRIDGE ON BARAK NEVER AT ANNAPURNA.         CACHAR         RURAL         135         OPEN CC1         DC         25         25         625         16         35         DRAW OF LOTS         5         4           321         GHAT DO NUDHPATL ISOL CONNECTING TO THE LUNCTION POINT OF DALU BAZA AND. NH27         SONITPUR         RURAL         136         OPEN CC1         DC         25         25         625         16         35         DRAW OF LOTS         5         4           322         WITHIN 5 KMS FROM BEXEDT IPIC TOWARDS ANGSAU ON BEDETI - RAMSCSAL MOAD (In estivation)         SONITPUR         RURAL         136         OPEN         DC         25         25         625         16         35         DRAW OF LOTS         5         4           322         Within 4 KMS from Gossigaon Raiway Crossing towards Maa Mahamaya Temple, Satyapur (Machangdoba) on Gossigaon - Tamarhat Road         KOKRAIHAR         RURAL         60         ST         CFS         25         25         625         16         35         DRAW OF LOTS         2           24         BETWEEN BHALUKATA CHOWK AND CIRCLE OFFICE,CHAMARIA (ON BOKO-CHAMARIA ROAD)         KAMRUP         RURAL         68         OBC         DC         25         25         625         16         35         DRAW OF LOTS         3	320	WITHIN 3 KM FROM JUGISUTI TRIBAL HIGH SCHOOL	DHEMAJI	RURAL	120	OBC	DC	25	25	625	16	35	DRAW OF	5	3
LINCTION POINT OF DALL BAZAR AND NH2?         LINC TOK         LINC TOK <thlinc th="" tok<="">         LINC TOK         LINC TOK</thlinc>	274		CACHAD	PLIDAT	125	OPEN CC 1	DC	25	25	675	16	25	DRAW OF	-	
122       RANGSALI ROAD (In erstwhile Biswanath District)       SOM IPON       RORAL       130       OPEN       DL       23       23       0.53       1.6       35       1075       5       4         123       Within A KMs from Gossiagan Railway Crossing towards Maa Mahamaya       RoKRALH RAR       RURAL       600       ST       CFS       25       25       625       0       0       DRW OF       5       3         124       BETWEEN BHALUKGHATA CHOWK AND CIRCLE OFFICE, CHAMARIA (ON       KAMBUP       RURAL       668       0BC       DC       25       25       625       1.6       35       DRW OF       5       3         125       On Jongarithairia- Athibie Robad, between Haluating and Geleky High School in Geleky.       SiBSAGAR       RURAL       200       OPEN       DC       25       25       625       1.6       35       DRW OF       5       4         120       On Jongarithairia- Athibie Robad, between Maluating and Geleky High School in Celeky.       SiBSAGAR       RURAL       110       OPEN       DC       25       25       625       1.6       35       DRW OF       5       4         120       On Domownahr- Dhai-NI Road, Between NH-37 intersection and Rajiv Gradin institut of Peroleum Technology, Amethi       SONTPUR	321	JUNCTION POINT OF DALU BAZAR AND NH27	LACHAK	RUKAL	135	UPEN UL I		25	25	025	10	35		5	4
$\frac{122}{12} Temple, Skyapur (Machangoba) on Gossaigaon-Tamahat Road M KAMANUM ROB ROBAL (C) C ($	322		SONITPUR	RURAL	136	OPEN	DC	25	25	625	16	35		5	4
Itemple, Satyapur(Machangooba) on obssiggion- laminat Road       KamBup       RURAL       68       ORC       25       25       665       16       35       ORW OF LOTS       5       33         22       BOXO-CHMARABA ROAD)       SIBSAGAR       RURAL       200       OPEN       DC       25       25       625       16       35       DRW OF LOTS       5       4         325       School in Geleky, School in Geleky, School in Geleky, Construction of the Swanath Diarket       SIBSAGAR       RURAL       200       OPEN       DC       25       25       625       16       35       DRW OF LOTS       5       4         326       Chronol in Geleky, School in Geleky, Construction of Geleky, School in Geleky, Autrix Athibel Road, between NH-37 intersection and Rajiv Gradmi Institute of Periodum Technology, Amethi       SiBSAGAR       RURAL       110       OPEN       DC       25       25       625       16       35       DRW OF LOTS       5       4         0       Dromornukh - Dhari-All Road, Between NH-37 intersection and Rajiv Gradmi Gandmi Cancer       SiBSAGAR       RURAL       90       SC       CFS       25       25       625       16       35       DRW OF       5       32         2       Gradmi Gand       SiBSAGAR       RURAL <td< td=""><td>323</td><td></td><td>KOKRAJHAR</td><td>RURAL</td><td>60</td><td>ST</td><td>CFS</td><td>25</td><td>25</td><td>625</td><td>0</td><td>0</td><td></td><td>0</td><td>2</td></td<>	323		KOKRAJHAR	RURAL	60	ST	CFS	25	25	625	0	0		0	2
12/2       BOKD-CHAMARA ROAD)       CHAMMUP       RURAL       00       OBC       UL       2/3       2/3       0/3       1/0       5/3       LOTS       5       3/3         120       On Degraphic Astart-Athbel Road, between Haluating and Geleky High School in Geleky.       SIBSAGAR       RURAL       2/00       OPEN       0/0       2/5       2/5       6/5       1/6       3/5       UOTS       5       4/4         325       erstwhile Biswanath District)       SIBSAGAR       RURAL       1/10       OPEN       D/C       2/5       2/5       6/25       1/6       3/5       D/RW OF       6       4         326       erstwhile Biswanath District)       SIBSAGAR       RURAL       1/10       OPEN       D/C       2/5       2/5       6/25       1/6       3/5       D/RW OF       5       4         326       erstwhile Biswanath District)       SIBSAGAR       RURAL       9/0       S/C       C/F       2/5       2/5       6/25       1/6       3/5       D/RW OF       5       4         326       Gandh Instruct of Periodum Technology, Amethi       SIBSAGAR       RURAL       9/0       S/C       C/F       2/5       2/5       6/25       0       0/15       0/10														_	-
325       School in Geleky, WTIFINE SKMS FROM BORJARANH HIGH SCHOOL TOWARDS SH-45 (in erstwhile Biswaraht District)       SONTPUR       RURAL       100       OPEN       0C       2.5       2.5       62.5       1.6       3.5       UOTS       0       44         226       erstwhile Biswaraht District)       SONTPUR       RURAL       110       OPEN       0C       2.5       2.5       62.5       1.6       3.5       UOTS       0       4         327       Gabin Institute of Peroleum Technology, Amethi Gabini Saint of Peroleum Technology, Amethi       SIBSAGAR       RURAL       9.0       SC       CFS       2.5       2.5       62.5       0       0       007.5       0       2.2         Gabini Institute of Peroleum Technology, Amethi 3.8       SIBSAGAR       RURAL       9.0       SC       CFS       2.5       2.5       62.5       0       0       007.5       0       2.2         3.8       Statute of Peroleum Technology, Amethi       SIBSAGAR       RURAL       9.0       OR       DC       2.5       2.5       62.5       0       0       0.0TS       0       2.2         3.8       Statute of Peroleum Technology, Amethi       SIBSAGAR       RURAL       5.0       0.0C       DC       2.5       5.5 </td <td>-</td> <td>BOKO- CHAMARIA ROAD)</td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>LOTS</td> <td>-</td> <td></td>	-	BOKO- CHAMARIA ROAD)		-									LOTS	-	
326         erstwhile Biswanath District)         50NTPUR         RURAL         10         OPEN         DC         25         25         625         16         35         LOTS         5         4           0         Demownahr-Dhai-All Road, Between NH-37 Intersection and Rajiv         SIBSAGAR         RURAL         90         SC         CFS         25         25         625         0         0         DR/W 0F         2           Gabain Institute of Peroleum Technology, Amethi         SIBSAGAR         RURAL         90         SC         CFS         25         25         625         0         0         DR/W 0F         2           Gobain Gaon         SiBSAGAR         RURAL         90         SC         CFS         25         25         625         0         0         D/DTS         0         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2         2	325	School in Geleky.	SIBSAGAR	RURAL	200	OPEN	DC	25	25	625	16	35	LOTS	5	4
327         Gandhi Institute of Petroleum Technology, Amethi         SIBSAGAR         RURAL         90         SC         CFS         25         25         625         0         0         LOTS         0         20           Gohan Gaon         SiBSAGAR         RURAL         90         SC         CFS         25         25         625         0         0         LOTS         0         20           328         Between Raidongia GP Office and Kaliashnath Temple, Hatichong on         NACAON         RIIRAL         50         ORC         DC         25         25         625         16         35         DRAW OF         5         3	326	erstwhile Biswanath District)	SONITPUR	RURAL	110	OPEN	DC	25	25	625	16	35		5	4
Gohain Gaon         LUIS           328         Between Raidongia GP Office and Kailashnath Temple, Hatichong on NAGAON         NIRAL         50         ORC         DC         25         25         16         35         DRAW OF         5         3	327	Gandhi Institute of Petroleum Technology, Amethi	SIBSAGAR	RURAL	90	sc	CFS	25	25	625	0	0		0	2
		Gohain Gaon													
	328		NAGAON	RURAL	50	OBC	DC	25	25	625	16	35		5	3

	WITHIN 4 KMS FROM KHANAMUKH MARKET TINIALI ON LATE RAJEN							[	1			DRAW OF		
329	WITHIN 4 KMS FROM KHANAMUKH MARKET TINIALI ON LATE RAJEN BORTHAKUR PATH	SONITPUR	RURAL	116	OPEN	DC	25	25	625	16	35	LOTS	5	4
330	BETWEEN JAGADHATRI PUJA MANDIR JAMTOLA AND GURKUCHI CHOWK ON RANGIA DHAMDHAMA ROAD	KAMRUP	RURAL	72	OPEN CC 2	DC	25	25	625	16	35	DRAW OF LOTS	5	4
331	BETWEEN BAMUNBARI BAZAR AND LENGERI ON BAMUNBARI LENGERI	DIBRUGARH	RURAL	80	OBC CC 1	DC	25	25	625	16	35	DRAW OF	5	3
	ROAD											LOTS DRAW OF		
332	Between Meleng Grant Gaon and Kukurachowa Gaon (Not on NH/SH)	JORHAT	RURAL	80	ST CC 1	CFS	25	25	625	0	0	LOTS	0	2
333	WITHIN 8 KMS FROM BISWANATH CHARIALI TOWARDS PAVOI ON BISWANATH CHARALI - PAVOI ROAD (In erstwhile Biswanath District)	SONITPUR	RURAL	148	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
224	On Namrup-Tingkhong Road via Tinghkong College, Within 4 KMS from	DIDDUCADU	011041	100	OPEN		25	25	625	16	35	DRAW OF	5	4
334	Tingkhong Kosulupathar Tiniali (opposite to Tingkhong Petrol Pump) towards Namrup	DIBRUGARH	RURAL	100	OPEN	DC	25	25	625	16	35	LOTS	5	4
335	ON KHANIKAR-JOKAI ROAD, FROM THAKURTHAN MARKET TO NH52B INTERSECTION, NOT ON NH/SH	DIBRUGARH	RURAL	130	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
336	On Disangmukh Road, within 6 kms from NH-37 intersection to	SIBSAGAR	RURAL	120	ST	CFS	25	25	625	0	0	DRAW OF	0	2
	Disangmukh Between Bandarmari Post Office to Bandarmari Hospital on PWD MAIN		-									LOTS		
337	Road	SONITPUR	RURAL	137	OPEN	CC	25	25	625	16	6	BIDDING	10	4
338	Between Gaurav Agency Kerosene Depot, Dhing to Ahomgaon Police Station on Dhing-Tuktuki Jajori Road	NAGAON	RURAL	100	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
339	From 3 kms from Orang Bus Stop chowk towards Mazbat on Orang	UDALGURI	RURAL	121	OBC	DC	25	25	625	16	35	DRAW OF	5	3
340	Mazbat Road		RURAL	140	OPEN		25	25	625	16	35	LOTS DRAW OF	5	4
340	Bokota Village limits ( On Sepon - Sunpura Road ) Within 5 km of Bakaitari ME school towards Simlitola on Dhanubhanga-	SIBSAGAR	RUKAL			DC						LOTS DRAW OF		
341	Tiplai-Gerua-Simlitola Road	GOALPARA	RURAL	60	ST	CFS	25	25	625	0	0	LOTS	0	2
342	FROM CHORGOLA MOTOR STAND TO SOUTH KARIMGANJ DEVELOPMENT BLOCK ON CHARGOLA-KALIGANJ ROAD	KARIMGANJ	RURAL	90	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
343	Within 2 kms from Tangni Chariali towards Bhakatpara on Tangni Chariali	DARRANG	RURAL	95	OBC	DC	25	25	625	16	35	DRAW OF	5	3
	Bhakatpara Road FROM JARAILTOLA GP OFFICE TO BIHARA POST OFFICE ON UJANGRAM-											LOTS DRAW OF		
344	DHOLCHERRA ROAD	CACHAR	RURAL	70	OPEN CC 1	DC	25	25	625	16	35	LOTS	5	4
345	WITHIN 5 KM FROM BILAIPUR MPHC HOSPITAL TOWARDS LALA TOWN ON GAGLACHERRA BILAIPUR ROAD	CACHAR	RURAL	90	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
346	Within 3 kms from Balipara Traffic Point towards Rangapara on Balipara	SONITPUR	RURAL	100	OBC	DC	25	25	625	16	35	DRAW OF	5	3
347	Old Missamari Road On Nimati Road,Within 3 kms from Bhogdoi Police Station towards	JORHAT	RURAL	100	OPEN	DC	25	25	625	16	35	LOTS DRAW OF	5	4
	Nimati From intersection of NH 715 and Jakhlabandha Silghat Road to				-							LOTS DRAW OF		
348	Namkamakhya Primary School on Jakhlabandha Silghat Road	NAGAON	RURAL	55	OPEN	DC	25	25	625	16	35	LOTS	5	4
349	ON SEPON SUNPURA ROAD, FROM SEPON HIGH SCHOOL UPTO NH-37 INTERSECTION	CHARAIDEO	RURAL	130	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
350	Within 1 KM from Kheroni Charali on Hawaipur Road, not on NH/SH	WEST KARBI	RURAL	70	ST	CFS	25	25	625	0	0	DRAW OF	0	2
	FROM SONAI NGHS SCHOOL PLAYGROUND TO CHANDPUR POST OFFICE	ANGLONG	-									LOTS DRAW OF	-	
351	ON KABUGANJ -SONAI ROAD	CACHAR	RURAL	70	OPEN	DC	25	25	625	16	35	LOTS	5	4
352	BAHADURPUR GP OFFICE TO NEARBY BRIDGE AT KATAKAL RIVER ON HAILAKANDI RATANPUR SAHPUR ROAD	HAILAKANDI	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
353	Between PO Athgharia and Baranghati PHC on Athgharia - Baharghat - Baranghati Road	NALBARI	RURAL	60	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
354	From Pub Pota L P School to Mahilapara Chowk on Sipajhar Borichowka	DARRANG	RURAL	70	sc	CES	25	25	625	0	0	DRAW OF	0	2
	Tangla Road WITHIN 2 KMS FROM GHILLA CHOWK CHANDKUCHI ON BARNADDI	-	-	-				-				LOTS DRAW OF	-	
355	ROAD TOWARDS BARNADDI	NALBARI	RURAL	60	OPEN	DC	25	25	625	16	35	LOTS	5	4
356	FROM ASIMGANJ TINMUKHA TO DUHALIA EXTENDED HIGH SCHOOL ON RATABARI ROAD	KARIMGANJ	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
357	Within 3 kms from Kalazal Chowk towards Dagaon on Baihata Dagaon	KAMRUP	RURAL	60	OBC PH	DC	25	25	625	16	35	DRAW OF	5	3
358	Road Within 2 kms from Athiabari PO on Nathkuchi Doomni Road	BAKSA	RURAL	60	ST PH	CFS	25	25	625	0	0	LOTS DRAW OF	0	2
330	From Domal Telahi Anchalik ME School to Silsaku LP School on Road		RUNAL									LOTS DRAW OF		
359	connecting Baghara Chariali and Morigaon Telahi Road	MORIGAON	RURAL	81	OPEN	DC	25	25	625	16	35	LOTS	5	4
360	FROM AYNAKHAL TINMUKHA TO LAKHINAGAR MODEL HIGH SCHOOL ON AYNAKHAL-RAMKRISHNA NAGAR ROAD	HAILAKANDI	RURAL	90	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
361	On Romai TE Road, From Ghoramara Tiniali to Hatigor Tea Factory Gate	DIBRUGARH	RURAL	90	OBC	DC	25	25	625	16	35	DRAW OF	5	3
	Within 6 kms from Jagra High School towards Bongaon on Mukalmua		-			-						LOTS DRAW OF		
362	Bongaon Road	NALBARI	RURAL	60	OPEN	DC	25	25	625	16	35	LOTS DRAW OF	5	4
363	From Solmara Primary Health Center to Krishna Temple on 1 Number Deorigaon, Malow Pathar on Sengeliaati Road	JORHAT	RURAL	80	ST	CFS	25	25	625	0	0	LOTS	0	2
364	Between Union Bank, Bhalukmari and Khring Khring LP School on Kaki-	NAGAON	RURAL	90	OPEN	DC	25	25	625	16	35	DRAW OF	5	4
365	Noor Nagar Road (In erstwhile Hojai District) ON SILKURI ROAD VIA SILDUBI BETWEEN INTERSECTION POINTS OF	CACHAR	RURAL	90	OBC	DC	25	25	625	16	35	LOTS DRAW OF	5	3
	SH39 AND NH306 FROM DHEPARGAON CHOWK TO DHEKIPUTA CHOWK ON ROAD		-									LOTS DRAW OF		
366	CONNECTING RANGIA- DHEPAR GAON - GANDHIBARI-DEOCHUNGA	BAKSA	RURAL	60	OPEN	DC	25	25	625	16	35	LOTS	5	4
367	On Bhadoi Paach Ali-Joypur Road, Within 3 KMS from Santi Tea Estate Tea Factory towards Tarajan Tea Factory	DIBRUGARH	RURAL	90	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
368	Within 2 km of Kirtanpara Bazar Tiniali towards Kirtanpara Bazar	BARPETA	RURAL	93	OBC	DC	25	25	625	16	35	DRAW OF	5	3
369	Abhayapuri Road Indian Overseas Bank, Mikirbheta to Charaibahi College, on the main		011041									LOTS DRAW OF	5	
	road connecting SH - 3 and SH -15 Within 6 Kms from Gyanpeet Degree College on Nikashi Subhankatha	MORIGAON	RURAL	92	OPEN	DC	25	25	625	16	35	LOTS DRAW OF		4
370	road towards Subhankatha	BAKSA	RURAL	60	OPEN CC 1	DC	25	25	625	16	35	LOTS	5	4
371	From Hathkhola Chowk to Bijulighat MV School on Kamarkuchi Road	NALBARI	RURAL	60	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
372	Within 5 km from the juction of NH27 and Sialmari Road on Sialmari-Bijni	BARPETA	RURAL	90	sc	CFS	25	25	625	0	0	DRAW OF	0	2
	Station Road											LOTS DRAW OF		
373	Within 3 KM from Rajapathar Tinali High School towards Bakulia	KARBI ANGLONG	RURAL	80	OPEN	DC	25	25	625	16	35	LOTS	5	4
374	Between Palhazi Model High School to Saha High School on Palhazi Bazar to Bahari Road	BARPETA	RURAL	87	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
375	Within 8 KM of Sonajuri mini PHC towards Salona on Salona - Anjukpani	NAGAON	RURAL	60	OBC	DC	25	25	625	16	35	DRAW OF	5	3
376	Road On Jagduwar to Chintamonigarh Road, Within 3 KMS from Bonai High	JORHAT	RURAL	80	ST	CFS	25	25	625	0	0	LOTS DRAW OF	0	2
	and Higher Secondary School											LOTS DRAW OF		
377	Within 5km from Saudarvitha Mini PHC on Ananda Bazar Road	BAKSA	RURAL	94	OPEN	DC	25	25	625	16	35	LOTS	5	4
378	Within 2 kms from Chengeliajhar 1no chowk towards Dipila on Dumnichowki Dipila Road	DARRANG	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
379	Sukafa Samannay Khetra to Sansua Hospital on Mohbandha Road	JORHAT	RURAL	80	OPEN	DC	25	25	625	16	35	DRAW OF	5	4
	ON PWD ROAD FROM BARAK VALLEY ENGINEERING COLLEGE TO		-	80	-		25	25	625	16	35	LOTS DRAW OF	5	3
380	JUNCTION POINT OF SH39	KARIMGANJ	RURAL		OBC CC 1	DC		-				LOTS DRAW OF	-	
381	Between Bhawanipur and Simlaguri on Bhawanipur Simlaguri Road	BARPETA	RURAL	77	SC CC 1	CFS	25	25	625	0	0	LOTS	0	2
382	WITHIN 5 KM FROM BILAIPUR MPHC HOSPITAL TOWARDS LALA ON GAGLACHERRA BILAIPUR ROAD	HAILAKANDI	RURAL	70	OPEN PH	DC	25	25	625	16	35	DRAW OF LOTS	5	4
383	Between Daobhangi Police Patrol Post and Gauripur Public Library on	DHUBRI	RURAL	70	OBC	DC	25	25	625	16	35	DRAW OF	5	3
	Airport Road Between F.A.A Medical College and Jania Satra on Barpeta Hospital Jania		-			-						LOTS DRAW OF		
384	Road	BARPETA	RURAL	75	OPEN	DC	25	25	625	16	35	LOTS	5	4
385	From JIST,NH 715 to Hatihal ,Jorhat-Majuli Bridge Road	JORHAT	RURAL	80	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
386	Between Jania Satra and Kalgachia Chariali on Kalgachia Moinbari Road	BARPETA	RURAL	75	OPEN	DC	25	25	625	16	35	DRAW OF	5	4
387	Between Mandia HP Pump (Mandia Service Station) and Baghbar Police	BARPETA	RURAL	90	OBC	DC	25	25	625	16	35	LOTS DRAW OF	5	3
	Station on Satra Kanara Road Between Udmari Balugutia Jame Masjid, Udmari and Telia Bebejia Post											LOTS DRAW OF		
388	Office on Singari-Juria Road	NAGAON	RURAL	85	OPEN	DC	25	25	625	16	35	LOTS	5	4
389	Between Balapara Gaon Panchayat Office and Sri Sri Durga Mandir on Salbari Jogighopa Road	BONGAIGAON	RURAL	65	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
390	Salbari Jogignopa Road Within 3 KM of Batamari High School on Bordowa-Balikatia Road	NAGAON	RURAL	85	sc	CFS	25	25	625	0	0	DRAW OF	0	2
												LOTS DRAW OF		
391	On Lakwa Rajgarh Road, within 5 kms from Garmur Chariali	SIBSAGAR	RURAL	125	OBC	DC	25	25	625	16	35	LOTS	5	3
392	Within 2 KM from Athgaon Chariali towards Athkelia, on Golaghat- Salikhat-Athkhelia Road	GOLAGHAT	RURAL	140	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
393	On Pingree-Bordumsa Road, Between 3 KM to 5KM from Pingree Police Station towards Bordumsa, not on NH/SH	TINSUKIA	RURAL	110	OPEN CC 1	DC	25	25	625	16	35	DRAW OF LOTS	5	4
												LUIS		

394	Within 2 KM from Disoi Chariali towards Dergaon Chariali via Gelabil river bridge	GOLAGHAT	RURAL	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
395	Between Bongshar Tiniali Chowk and Sualkuchi PHC on Sualkuchi Main Road	KAMRUP	RURAL	100	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
396	Within 3 km of Balapara-Golibandha Bridge on Kaladiya River towards Raiakhat on Raiakhat-Barsimla Road	BARPETA	RURAL	60	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the

Corporation Website (www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Applicatio n fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	СС	OBC	5000		CC	OBC	4000
Regular ROs	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **15** years and renewable every **01** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

## The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Company Name	State Name	Divisional Office	Divisional Office Address	Contact No.	For Districts
Indian Oil Corporation Limited	Assam	Guwahati	Guwahati Divisional Office East Point Tower, 4th Floor Bamunimaidan, Guwahati Assam-781021	9435708957 / 8335860360	Baksa, Barpeta, Bongaigaon, Chirang, Darrang, Dhubri, Goalpara, Kamrup, Kamrup Metroploitan, Kokrajhar, Morigaon, Nagaon (incl erstwhile Hojai), Nalbari, Sonitpur (incl. erstwhile Biswanath), South Salmara Mankachar & Udalguri
Indian Oil Corporation Limited	Assam	Tinsukia	Tinsukia Divisional Office Sripuria Road, Tinsukia - 786 125, Assam	0374- 2340228 /2338176	Charaideo, Dhemaji, Dibrugarh, Golaghat, Jorhat, Karbi Anglong, Lakhimpur, Majuli, Sibsagar, Tinsukia, West Karbi Anglong
Indian Oil Corporation Limited	Assam	Silchar	Silchar Divisional Office Jagannath Appartments, N.S. Avenue, Hospital Road, Silchar - 788 00	9449596918 / 9476113450	Cachar, Dima Hasao, Hailakandi, Karimganj